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Who defined folklore as an *artistic communication in small groups™?

1. Dan Ben — Amos
2. William Pepicello
3. Roman Jacobson
4. Thomas Green
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From which among the following states does the ‘Sohrai Khovar Painting’ hail that recently got GI Tag?

. Jharkhand
. Gujarat

. Andhra Pradesh
4. Telangana
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When did the literary study of folklore begin at the Harvard University?
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Who collected French — Canadian folklore to study North — American ethnic tradition?

1. Albert B. Lord

2. Ruth Benedict
3. Marius Barbeau

4. Melville J. Herskovits
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“Memorandum for the Study of Acculturation” was published in the year:
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“Acculturation is not only inevitable and extremely dynamic but also highly

1. Creative
2. Optimistic
3. Pessimistic
4. Conservative
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1. Stith Thompson
2. Warren E. Roberts
3. John Edwards
4. Archie Green

The first course in Material Culture at Indiana University in 1961, was introduced by:
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Whose interest in a particular physical form or colour scheme may alter a community’s evaluation of that form
and lead to its triumph over other types?

1. Performer
2. Collector
3. Participant
4. Community
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The origin of the term ‘Archetypon’ is from:

1. Greek

2. Latin

3. Spanish

4. Finnish
11
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The study of the creation and appreciation of beauty is called:

1. Acculturation
2. Aesthetics

3. Perception

4. Hermeneutics
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Survivals Theory was propounded by

1. Max Miiller
2. Andrew Lang
3. Sir James Frazer
4. Ruth Benedict
11
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Kumara Vyasa kept his oral texts alive by the ‘Gamakis’ who were. basically:

1. Narrators
2. Reciters
3. Court — Poets
4. Protesters
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In which year was the ‘Festival of American Folklife’ established?

1. 1967
2. 1957
3. 1867
. 1857
(1) 1
(2) 2
3) 3
(4) 4
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Primitive Art (1927) was written by

1. Dan Ben — Amos
2. Roman Jacobson
3. Franz Boas

4. Richard M. Dorson
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Who among the following folklorists offers a community based approach to contrastive aesthetics in his
examination of African — American arts?

1. Breandan Breathnach
2. Stith Thompson

3. John Michael Vlach

. Warren E. Roberts
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The group of skilled stones mason from northern Italy who built and settled in paradise valley, Nevada were
called:

1. Contractor
2. Bricklayer
3. Cement men
4. Door maker
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Bihu dance is

1. performed in praise of the Goddess of rain

. meant to celebrate and emulate the seasonal spirit, celebrating fertility and passion
. a ritual performing ethnic art form of the South India

. celebrating martial arts, acrobatics and athletics
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Who said that the birth of the Reader must be at the cost of the death of the Author?

1. Jacques Derrida
2. Roland Barthes
3. Michel Foucault
4. Jean Baudriland
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Who defined the ‘Second life’ of folklore as ‘the recycling of material in an environment that differs from its
original context’?

1. Roger D. Abrahams
2. Richard Bauman
3. Richard Schechner
4. Laury Honko
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The Tamilian trinity of Thivaiyaru (Tyagaraja., Shyama Sastry and Muthuswamy Dikshitar) composed Carnatic
music in

1. Telugu
2. Kannada
3. Tamil
4. Malayalam
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(3) 3
(4) 4
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Transgender Matha B. Manjamma Jogati was awarded Padma Shri for being renowned:

1. Folk Singer

2. Folk Painter

3. Folk Dancer
Folk Writer

4.
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Who said that it would seem that mythological worlds have been built up only to be shattered again, and that new
worlds were from the fragments?

1. Vladimir Propp
2. Emile Durkheim
3. Claude Levi Strauss
4. Franz Boas
11
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Who defined folklore as "the material that is handed on by tradition, either by word of mouth or by custom and
practice"?

1. Alan Dundes
2. Richard Dorson
3. A. Taylor
4. Ben Amos
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(2) 2
3) 3
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Gary Witherspoon and Barre Toelken point out the similar centrality of the concepts of process and cosmic inter-
relation in the aesthetics of a category of people, and that group can be classified as

1. Chocktaw
2. Navajo
3. Chiksaw
4. Greek
1
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The Greek word for ‘Anecdote’ is

1. Anekdote
2. Anaekdote
3. Anacdote
4. Anikdote
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‘Sehwank’ is a humour story written in

1. German
2. Greek
3. Spanish
4. Igbo
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The cycle of life classification is based on the concept of the ‘rite of passage’ as formulated by

1. Soumen Sen
2. Wayland D Hard
3. Arnold Van Gennep
4. Alexander Krappe
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Who claimed that symbols were like building blocks which the society constructed for itself and for the task of
deifying itself?

1. Victor Tunner
2. Emile Durkheim
3. Arnold Van Gennep
4. Ruth Benedict
1) 1
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(3) 3
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The communities who lived a million to a hundred thousand years ago are called

1. Homo habitis
2. Homo sapiens
3. Homo erectus
4. Homo rudolfinis
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(3) 3
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Who among the following groups evaluated works that employed both ‘improvisational patternings” and ‘stylized
figures’?

1. African — American quilters
2. Euro — American

3. Anglo quilt makers

4. African — American
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Which of the following tribes observes ‘Sohrai’ as a main festival?

1. Bodo
2. Bhil
3. Santhal
4. Jarava
1) 1
2) 2
(3) 3
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The “Pattern Theory of Culture’ was basically given by

1. Ruth Benedict

2. Max Muller

3. Andrew Lang

4. Sir James Frazer
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In which writing did Max Muller claim that folklore was devolutionary?

1. Auld Lang Sync
2. Solar Mythology
3. The Upanishads
4. Spiritual Culture
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The term ‘Animism’ is derived from the Greek Word

1. Anema
2. Anime
3. Anima
4. Anemi
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The resulting condition of “soul loss™ in the midst of the indigenous groups is often called as

. Flight Illness

. Magical flight
. Magical Illness
. Magical fright
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Skansen Open Air museum is located in

1. Virginia
2. Ontario
3. Wales
4. Stockholm
11
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‘The Poem of Ossian’ was written by

1. Thomas Gray
2. James Macpherson
3. Henry Glassie
4. Bishop Thomas Percy
1) 1
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(3) 3
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In 1968, Henry Glassie implemented a approach to typology in Folk Architecture. (Fill in the blank)

1. Three — part
2. Four — part
3. Six — part
4. Two — part

1) 1

) 2

(3) 3

4) 4
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Which First National Agency of America is devoted to the study, preservation and presentation of folk culture?

1. American Folklore Agency
2. American Folklore Centre
3. American Folklife Agency
4. American Folklife Centre

1) 1

2) 2

(3) 3

(4) 4
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‘The Golden Bough’ was written by

1. Winston

2. Sir James George Frazer

3. Dundes

4. Hufford
1)
(2
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The concept of ‘Folklorismus’ was developed by

A. Hans Moser

B. Hermann Bausinger

C. Lauri Honko

D. Margaret Read Macdonald

Choose the most appropriate answer from the options given below :

.(A) and (D) only
.(A) and (B) only
.(B) and (C) only
.(C) and (D) only
(1)1
2) 2
(3) 3
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Which among the following novels are written by Rabindranath Tagore?

A Gora

B. Char Adhyay
C. Jogajog

D. Ananda Math

Choose the most appropriate answer from the options given below :

1. (A) and (B) only
2.(B). (C) and (D) only
3.(A), (B) and (C .)only
4.(A). (B) and (D) only
1) 1

() 2

(3) 3

(4) 4




FefRad § | F19 9 37T W59 TR 5R T8 e T 27

A. T

B. TR HAE
C. ST
D. AZAS

e fou U faerem § | HEE ST IO 1 9 AT

1. Fae (A) AR (B)

2. T (B), (C) 3 (D)
3. FEA (A), (B) AR (C)
4. %3 (A), (B) ST (D)

(1) 1
(2) 2
3) 3
4) 4
1[Option ID=10965]
2[Option ID=10966]

3[Option ID=10967]
4[Option ID=10968]

Sl. No.43
QBID:171043

In which simile does the ‘Blason Populaire’ appear?

A. As tight as a Scotsman

B. Like a Chinese fire drill

C. A Swabian has no heart but two stomachs
D. Folklore and meta folklore

Choose the most appropriate answer from the options given below :

.(A) and (D) only
.(B) and (D) only
.(B) and (C) only
.(C) and (D) only
1) 1
(2) 2
3) 3
4) 4

o b




R STHT § TR e TS B 27

A, Tt THeHaT it a8 w1 BT

B. ToFET =it AT S3=am9 =+ 994

C. ot Tnfaes = a1 g5 T8 & @ 9few a1 92 w7 2
D. ATFATAT A AT

e fou U faerem § | HEE ST SO WA AT

1. %}EIF'T(A T (D)
2. FFa (B) 311 (D)
3, &Fa (B) 31 (C)
4. %S (C) T (D)

) 1

() 2

(3) 3

4) 4

1[Option ID=10969]
2[Option ID=10970]
3[Option ID=10971]
4[Option ID=10972]

Sl. No.44
QBID:171044

The Epics written by Homer were

A. Iliad

B. Divine Comedy
C. Odyssey

D. Paradise Lost

Choose the most appropriate answer from the options given below :

(A) and (D) only
(B) and (C) only
(A) and (C) only
(B) and (D) only

o b

1) 1
(2) 2
(3) 3
(4) 4




2 zrT fog U w2

A.3faTE
B. 2337 FH=!
C. aafzaft
D. TIET3S HIES

e fou U faerem § | HEE ST IO 1 9 AT

W(A ) 31T (D)
FaS (B) 3T (C)
.%h—cm( ) A (C)
Fa (B) 3T (D)

R

(1) 1
(2) 2
3) 3
4) 4
1[Option ID=10973]
2[Option ID=10974]

3[Option ID=10975]
4[Option ID=10976]

Sl. No.45
QBID:171045

The Island Region tribes consist of

A. Jarwas

B. Onges

C. Kurumbas
D. Kadars

Choose the correct answer from the options given below :

(A) and (B) only
(C) and (D) only
(A) and (C) only
(B) and (D) only

o b

1) 1
(2) 2
3) 3
(4) 4




AL AR
B. &AM

C. Tl
D. S

e fou U faerem § | HEE ST IO 1 9 AT

W(A ) 31T (B)
FaT (C) 3T (D)
.%h—cm( ) A (C)
Fa (B) 3T (D)

R

(1) 1
(2) 2
3) 3
4) 4
1[Option ID=10977]
2[Option ID=10978]

3[Option ID=10979]
4[Option ID=10980]

Sl. No.46
QBID:171046

What are the tribes among the following that do not hail from Assam?

A. Bodo

B. Karbi

C. Bhil

D. Chenchu

Choose the correct answer from the options given below :

(A) and (B) only
(A) and (C) only
(A) and (D) only
.(C) and (D) only
1) 1
(2) 2
3) 3
4) 4

o b




fretatEa Fa-H SEeaaT S99 ¥ 999 T8 27

A.9TS
B. &
c. i
D. =9

e fou U faerem § | HEE ST IO 1 9 AT

—

A (A) FT(B)
FA (A) T (C)
A (A) FT (D)
FAA (C) 3T (D)
) 1
() 2

3) 3
(4) 4

e VN S

1[Option ID=10981]
2[Option ID=10982]
3[Option ID=10983]
4[Option ID=10984]

Sl. No.47
QBID:171047

Which of these temples are famous for their musical pillars?

A. Vijaya Vitthala Temple in Hampi

B. Golden Temple in Amritsar

C. Varadharaja Perumal Temple in Kanchipuram
D. Kamakhya Temple in Guwahati

Choose the most appropriate answer from the options given below :

.(A). (D) only
.(B). (D) only
. (A). (C) only
.(B). (C) only
1) 1
(2) 2
3) 3
4) 4

o b




T A-| AlET S99 T TS F §7 ¥ e 37
A. 700 ¥ feua foaome fage afg

B. sTaER feoa w91 At

C. Fe H feua s vewe ufea

D. Tarerdt e Fmare wfe

e fou U faerem § | HEE ST IO 1 9 AT

1. %8 (A), (D)
2. 3 (B). (D)
.FAS (A). (C)
.FFH (B). (C)

(1) 1
(2) 2
3) 3
4) 4

b

W

1[Option ID=10985]
2[Option ID=10986]
3[Option ID=10987]
4[Option ID=10988]

Sl. No.48
QBID:171048

The major themes of ‘The Jungle Books’ by Rudyard Kipling are

A. The behaviour of the Western deities
B. Abandonment followed by fostering
C. Importance of plants and trees

D. Human archetypes in animal form

Choose the most appropriate answer from the options given below :

.(A). (C) only
.(A), (D) only
(B). (D) only
.(B). (C) only
1) 1
(2) 2
3) 3
4) 4

o b




B. T ~T190T & ST THedT
C. T uF g&T W AEea
D. 7T ¥ ¥ §FT SAMEET

= f5u U o ¥ ° wE ST i =9 e

1. Fa (A), (C)
.FTA (A), (D)
. A (B), (D)
.FFH (B). (C)

(1) 1
(2) 2
3) 3
4) 4

e W b2

1[Option ID=10989]
2[Option ID=10990]
3[Option ID=10991]
4[Option ID=10992]

Sl. No.49
QBID:171049

Padma Shri Awardee Muthukannammal is

A. The last Devadasi of Viralimalai temple
B. A legendry Sadhirattam dancer

C. Famous Kuchipudi dancer

D. Renowned Odissi dancer

Choose the most appropriate answer from the options given below :

(B). (D) only
.(A), (B) only
(C). (D) only
.(A), (D) only
1) 1
(2) 2
3) 3
4 4

o b




T A TR qYFEE 2

A Tarreft gems wfer &t sAfam Zagr
B. U == |i*Rg™ JeINTH
C. g FEgET T I

D. foaeme stz =J_r"-1.l‘!-'-ll
= f5u U o ¥ ° w8 I i =9 e

1. % (B), (D)
.FTA (A), (B)
. FFSA (C), (D)
A (A). (D)

(1) 1
(2) 2
3) 3
4) 4

e VN S

1[Option ID=10993]
2[Option ID=10994]
3[Option ID=10995]
4[Option ID=10996]

Sl. No.50
QBID:171050

Charivari is a clamorous sound usually produced with

A. Pots and pans
B. Bells

C. Horns

D. Guitar

Choose the most appropriate answer from the options given below :

.(A). (B). (C) only
.(A), (B), (D) only
(B). (D) only
.(A), (D) only

(1) 1

(2) 2

(3) 3

(4) 4

o b




TR ATHF TF FATET O SA (SAETS) eI R Sors B/ 3 7

A. 9q7 (TS T FITE

B. AT
C. 91,
D. frer

= f5u U o ¥ ° wE ST i =9 e

1. %3 (A), (B). (C)
2. F3 (A). (B). (D)
3. %A (B). (D)
4.5 (A). (D)

(1) 1
(2) 2
3) 3
4) 4
1[Option ID=10997]
2[Option ID=10998]

3[Option ID=10999]
4[Option ID=11000]

Sl. No.51
QBID:171051

Alf Hilterbetel’s “Mahabharata: Ginge to Kurukshetra® deals with themes like:

A. North Indian Folk Mahabharata

B. South Indian Tamil Folk tradition

C. Draupadi Cult and Pan Indian Classical structure
D. North-East Indian Draupadi myths

Choose the correct answer from the options given below :

1. (A) and (B) only
2. (B) and (C) only
3.(C) and (D) only
4.(B) and (D) only

1) 1

(2) 2

3) 3

4) 4




T ferzrem T wear: et & g frifen e Pt & w37

A. I YA ST TEEEd
B. zfam grdm 7fae =
C. 2759 Ha U ARgel IR IeEg S

D. ST-T3 YRAE ZTat Y+
= feu U faweTt § 9 =E ST == FT

1. Fa @) AR @)
- .

2. FdA @) JAN

3. EF\ ] (C) aﬁ? D)

4. Fad B AL )
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=11001]
2[Option ID=11002]

3[Option ID=11003]
4[Option ID=11004]

Sl. No.52
QBID:171052

Which of the following types of hermeneutics emerged in the history of Biblical interpretations?

A. Literal

B. Psychoanalytical
C. Moral

D. Allegorical

Choose the correct answer from the options given below :

.(B). (D) and (C) only
.(A) and (D) only
.(A), (C) and (D) only
.(C) and (B) only

1) 1

2) 2

3) 3

4) 4

S N




arsfaeita sarean 3 sfrera & wmend diatE = 7T TE 350 g A ¥

~2

A. AT
B. HAIfGTerd
C. ¥faw

D. EICHF

= f5u T fawed ¥ | '@ I @ == i

. Fa (B). (D) T (C)
. FAE (A) @ (D)
. FF (A), (C) (D)
A (C) T (B)

(1) 1
(2) 2
3) 3
4) 4

s W b =

1[Option ID=11005]
2[Option ID=11006]
3[Option ID=11007]
4[Option ID=11008]

Sl. No.53
QBID:171053

Susan S Wadley talks about the performances in North-East India that they are:

A. closely interlinked

B. performers having their own choices of role-play
C. not genuine research materials

D. vertical processes of deification

Choose the correct answer from the options given below :

.(A) and (B) only
.(B) and (C) only
.(C) and (D) only
.(A) and (D) only
1) 1
(2) 2
3) 3
4) 4

o b




T TH 1T T3 9RA i TEqEt 6 91 o w3l F #

A. 3 Hoeqq &9 9 Aq:995 2

B. Tqaddl il qiHH-Ta1s § @9 A 1Eg wiEe @ 8l
C. 3 Tagrg e mrartiEn T8 2

D. F 2o i sEAR U 2

= f5u U o ¥ ° w8 I i =9 e

. A (A) I (B)
A (B) 3 (C)
. A (C) IR (D)
T (A) TR (D)

(1) 1
(2) 2
3) 3
4) 4

= LIS () —

1[Option ID=11009]
2[Option ID=11010]
3[Option ID=11011]
4[Option ID=11012]

Sl. No.54
QBID:171054

In ‘The Awakened Wind: the Oral Poetry of the Indian Tribes’ by Sitakant Mahapatra has the following sub-texts

A. The Tales of the Gaddi Tribe

B. Bakarwal Tribes: The Mythical Tales

C. The Kondhs: Their Oral Poetry

D. Bakhens : The Ritual Invocation Songs of Santhals

Choose the correct answer from the options given below :

A) and (B) only
B) and (D) only
C) and (D) only
C) and (B) only

L.(
2. (
3.(
4.(
(1) 1
) 2
(3) 3
(4) 4




1

Hiarera Tt 7R fofad 5 35 saee fag: 3 o Miedt o g 3teaq ey freafataa

F " I B

AT T59 STF T TE 2IeE

B. SHETS 21559 : § g 2od

C.7T FH : G/ AT WU

D. TG : § Tgei 3-area ara dA1% 99y

= U U T § ¥ W@ ST 6 == e

1. T (A) 3T (B)
2. 98 (B) 31 (D)
3.3 (C) 37T (D)

4. FFA (C) AT (B)
1) 1
) 2
3) 3
(4) 4
1[Option ID=11013]
2[Option ID=11014]

3[Option ID=11015]
4[Option ID=11016]

Sl. No.55
QBID:171055

In the text ‘Notes Towards the Definition of Culture’, T.S. Eliot defines culture as:

A. *Culture’ is a redundant and over — used term.

B. Culture talks about the development of an individual or a class.
C. Individual culture is dependent on group culture.

D. Culture is a ‘Society’ to which the group or class belongs.

Choose the correct answer from the options given below :

.(A), (B) and (D) only
.(A). (C) and (D) only
.(B). (C) and (D) only
.(B). (A) and (D) only
1) 1
2 2
3) 3
4) 4

S R N




Tred ZaTEH 3 fEfFem offF Feer AT T 7 3.UH.3Fe 7 95Hd B 36 T 7 O
fFm 2

A, FEFIT TH SAETIFR TF AA-TIF 2H I 755 2

B. TEHia TRt =3tk 9@ o1 & fae| F 91 7 == =l 2l
C. Jafhe FEFH, T9E TERG T [ET B

D. TEFG, I8 AT 3, 999 Tz A9ar o Fuiad war 3

= U U T § ¥ W@ ST 6 == e

1. T (A), (B) 3T (D)
2. FFA (A), (C) T (D)
3. %@ (B). (C) 31 (D)
4. %3S (B). (A) 3 (D)

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=11017]
2[Option ID=11018]

3[Option ID=11019]
4[Option ID=11020]

Sl. No.56
QBID:171056

According to Patrick B. Muller, which of the folk beliefs are not performed by commercial fishermen to cope
with physical and financial risks?

A. Throwing coins overboard

B. Avoiding words such as allegator or rabbit

C. To avoid turning the hatch cover upside down
D. Wishing with good phrase

Choose the most appropriate answer from the options given below :

1. (A), (B) and (D) only
2.(B),(C) and (D) only
3.(A), (C) and (D) only
.(A), (B) and (C) only
1) 1
() 2
3) 3
4) 4

=




A.T1E | = S
B. TS ALY @ A TG 6 TANT F T
c.fauz zr =t s | 9=1 F fom)

D. ITH STFEIT A1 AT 27

= U U T § ¥ W@ ST 6 == e

1. T (A). (B) 3T (D)
2. %A (B). (C) 3 (D)

-

3. T (A), (C) 3T (D)
4. T (A), (B) FT(C)

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=11021]
2[Option ID=11022]

3[Option ID=11023]
4[Option ID=11024]

Sl. No.57
QBID:171057

Which among the following categories do not belong to the string puppet tradition?

A. Kundhei

B. Gombeyatta
C. Ravanchhaya
D. Putul Naach

Choose the correct answer from the options given below :

.(A) and (C) only
.(C) and (D) only
.(B) and (C) only
.(A) and (B) only
1) 1
2 2
3) 3
4) 4

S R N




a9 | TA-H Fral at Flae W § " T8 87

=

&y

A.
B. =TS
C. TTFITSTET

D.9det Ard
= f5u U o ¥ ° wE ST i =9 e

el

A (A) I (C)
I (C) 3T (D)
(
(

—

(WO

Fa (B) HR(C)
FAA (A) 3T (B)

(1) 1
(2) 2
3) 3
4) 4

o

1[Option ID=11025]
2[Option ID=11026]
3[Option ID=11027]
4[Option ID=11028]

Sl. No.58
QBID:171058

Which of the following are Deities of the Santhali Community?

A. Marang Buru
B. Thakur Jiu

C. Jaher Erabong
D. Garelamaisama

Choose the correct answer from the options given below :

.(A) and (B) only
.(C) and (D) only
.(A). (B) and (C) only
.(A), (B) and (D) only
1) 1

(2) 2

3) 3

4) 4

o b




Freforfiaa § & 9 ¥ SaTer FITT 3 ST 27

A. T §F

B. 2T 5=
C. ST TS
D. THEATHTSHAT

= fou U faeat § 9 "E I == e

1. & (A) 3T (B)
2. FFS (C) 3T (D)
3. FEA (A), (B) AR (C)
4. %3 (A), (B) ST (D)

(1) 1
(2) 2
3) 3
4) 4
1[Option ID=11029]
2[Option ID=11030]

3[Option ID=11031]
4[Option ID=11032]

Sl. No.59
QBID:171059

According to Claude Levi Strauss, Saussure’s concepts of ‘langue” and ‘parole’ can be understood as follows:

A. A langue is the structural side of language and parole is the statistical aspect.
B. Parole is the structural side of language and langue is the statistical aspect.
C. Langue belongs to a reversible time, Parole being non reversible.

D. Parole belongs to a reversible time, langue being non reversible.

Choose the most appropriate answer from the options given below :

1. (B) and (C) only
2.(C) and (D) only
3.(A) and (C) only
4.(A) and (D) only

1) 1

() 2

3) 3

(4) 4




FATZ A -FZ\ il AT AR WA ATALONSAT Bl (799 TET F FHIT AR 2

A. T 9T o HIEATERS: 967 & SR SIS T 9 "IeTRg OE 2
B. T QTN 1 HI=FTCHF 947 @ ST &A1 HieThg 967 2|
C. ST =qehH] e B HEEg & SEfh Wi TRl B

D. T SIcFAl F | HEG & S T SO 3

e fou U faerem § | HEE ST IO 1 9 AT

FA (B) FT(C)
FA (C) 3T (D)
A (A) H(C)
A (A) I (D)
) 1
() 2

3) 3
(4) 4

B S L S

1[Option ID=11033]
2[Option ID=11034]
3[Option ID=11035]
4[Option ID=11036]

Sl. No.60
QBID:171060

The earliest studies of ‘Children and Folklore” were the massive collections undertaken by:

A. Lady Bertha Gomme
B. William Wells Newell
C. Temsula Ao

D. Ezekiel Alembi

Choose the correct answer from the options given below :

.(A) and (C) only
.(B) and (C) only
.(A) and (B) only
.(C) and (D) only
1) 1
(2) 2
3) 3
4) 4

o b




T T SRR F SAGTH AT T Jeq qhed [k grT foFe T g

A. S T T
[allad Sy
B. T3TIH FH I

C. THYEAT ATEl
D. S STeret

= f5u U o ¥ ° w8 I i =9 e

1. 3 (A) ()
2. A (B) ¥ (C)
3. A (A) FR (B)
4. FFA (C) 3T (D)

(1) 1
(2) 2
3) 3
4) 4
1[Option ID=11037]
2[Option ID=11038]

3[Option ID=11039]
4[Option ID=11040]

Sl. No.61
QBID:171061

A folklore item is accepted as authentic when:

A. Tt is believed by people through a word of mouth,

B. The performances or objects evoke a sense of genuineness in the participants,
C. It is isolated from the modern forces,

D. It is linked only to memory culture.

Choose the correct answer from the options given below :

1. (A) and (D) only
2.(C) and (D) only
3.(B) and (C) only
4.(B) and (D) only

1) 1

(2) 2

3) 3

4) 4
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A. 7% 4fd & TISI9 F AT G AFT B B

B. TR ST F5qE TeH T A ATl # faggar o1 913 serd et 2
C. 78 AT qrRal H U 2

D. T8 Fact Tgfa HEFA ¥ T2 B

= f5u U o ¥ ° w8 I i =9 e

. A (A) I (D)
I (C) 3T (D)
(
(

—

(WO

Fa (B) R (C)
_Fa (B) 31T (D)

(1) 1
(2) 2
3) 3
4) 4

W

1[Option ID=11041]
2[Option ID=11042]
3[Option ID=11043]
4[Option ID=11044]

Sl. No.62
QBID:171062

Folk forms and psychoanalysis can be associated with

A. the study of jokes

B. the Indian healing traditions
C. narrative readings

D. visual art forms

Choose the correct answer from the options given below :

.(B) and (C) only
.(A) and (B) only
.(A) and (D) only
.(C) and (D) only
1) 1
(2) 2
3) 3
4) 4

o b




AIF T T FAIareoo =ea fFes 19 J9g fF 1 gd 27

A, TSFEAT H FATTA

B. YRAT TTERF TWHIT
C. ATHATI R 9TeA

D. 57T Fe &

= f5u U o ¥ ° w8 I i =9 e

1. A (B) 31 (C)
2. FT (A) T (B)

-

3. Fa (A) ST (D)
4. FFA (C) 3T (D)

(1) 1
(2) 2
3) 3
4) 4
1[Option ID=11045]
2[Option ID=11046]

3[Option ID=11047]
4[Option ID=11048]

Sl. No.63
QBID:171063

In the Cinderella folktales, we find some of the ideas and manifestations; they are:

A. walking on fire

B. swallowing pebbles

C. sibling rivalry

D. water/nurture plants with tears

Choose the correct answer from the options given below :

.(A) and (D) only
.(B) and (C) only
.(C) and (D) only
.(B) and (D) only
1) 1
() 2
3) 3
4) 4

o b
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= f5u U o ¥ ° w8 I i =9 e

. A (A) I (D)
.FFH (B) W (C)
. A (C) IR (D)
. FAE (B) 3R (D)

(1) 1
(2) 2
(3) 3
(4) 4

= LIS () —

1[Option ID=11049]
2[Option ID=11050]
3[Option ID=11051]
4[Option ID=11052]

Sl. No.64
QBID:171064

Symbolic Anthropology advocates:

A. a reaction to structuralism

B. refusal to study symbols individually

C. understand folk culture as an internal matter
D. use symbols to understand the entire system

Choose the correct answer from the options given below :

.(A) and (D) only

(B). (C) and (D) only
.(A). (B) and (D) only
.(C) and (D) only

1) 1

(2) 2

3) 3

4) 4

o b




T FICH T AHATT SR JaTem 3 ¢
A. GUEFATAE o T U Al

B. 3ATFF ¥ H TdATH & TTIT T ATAF H
C. T TEFIA F AT {999 F T § T934 H
D. YU ST Fl THIH &G WA F ST FA

= fou U At ¥ § |wE ST 1 =9 FIf

1. A (A) T (D)
2. FF (B), (C) 3T (D)
3. FAA (A), (B) AR (D)
4. F@A (C) FT (D)

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=11053]
2[Option ID=11054]

3[Option ID=11055]
4[Option ID=11056]

Sl. No.65
QBID:171065

The semiotic approach to folk culture advocates ideas like:

A. polyphonic literary productions have a wide range

B. language is a dynamic sharing system

C. rraditions are preserved as language, music, poetry, paintings, art
D. practices are handed down from generation to generation

Choose the correct answer from the options given below :

.(C) and (B) only
.(C) and (D) only
.(A) and (D) only
.(B) and (D) only
1) 1
() 2
3) 3
4) 4

o b




AT FER 70 HATSS ITH 69 TFER F o= @ a3 Y

A SEEAT HITEfca® ICTGT & A1 54 a2l

B. VTS UF Tfceiiel ATZERT =99 2|

C. TIUT, WIeT, G, e, e, wen % ' 9§ w@tida f S gl
D. Tt gt | R st 2

= fou U faeat § 9 "E I == e

FFSA (C) AT (B)
A (C) 3T (D)
A (A) (D)
_¥ES (B) A1 (D)
) 1
() 2

3) 3
(4) 4

S

1[Option ID=11057]
2[Option ID=11058]
3[Option ID=11059]
4[Option ID=11060]

Sl. No.66
QBID:171066

Match List I with List IT ;

List I List IT
A [Longest Poem I |Bevond 300 stanzas
B. Biography of Tulsi Das II. |Creation of a Legacy
C. [Haldhar Dhara III. [Regional Language Tradition]
D. [Haldhar Nag Ka Kavya Sansar] IV. |Prem Paechan

Choose the correct answer from the options given below :

L. (A)-(I), (B)-(II). (C)~«(IV), (D)-(III)
2. (A)-(IIT). (B)-(I1). (C)~(I). (D)-(IV)
3. (A)-(IV), (B)-(D). (O)~(II), (D)-(III)
. (A)-(IV), (B)-(II), (C)-~(III), (D)-(I)
(1) 1
() 2
3) 3
(4) 4

=N




A -1 F T FA-11 7 7= Hifsw
W_I W‘H

A [FATTEZ OIEH 1 [300 Bg % T
B.mﬁmm IIQ?F]%TWHWW
C. [&=L I . [§ 9T T
D.F*KWWWWW@WW

H= fow o et § & wE s = A

L. (A)-(I), (B)-(II), [C}( IV). (D)-(III)
2. (A)-(IID). (B)-(II)., (C)-(I), (D)-(IV)
3. (A)-(IV), (B)-(I), (C)-( II} (D)-(111)
4. (A)-(IV), (B)-(ID), (C)-(III), (D)-(I)
(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=11061]

2[Option ID=11062]

3[Option ID=11063]
4[Option ID=11064]

Sl. No.67
QBID:171067

Match List I with List IT ;

List I List IT
A |Volkskunde I. [French
B. [Folkliv II. |German
C. |Tradition Populaires| [T |Spanish
D [Folelor IV |Swedish

Choose the correct answer from the options given below :

L. (A)-(II), (B)-(I), (C)-(IV), (D)-(III)
(A)-(D. (B)-(IV). (C)-(I1I), (D)-(1II)
(A)-(IV), (B)-(I1I), (C)-(II), (D)-(I)
. (A)-(II), (B)-(IV), (C)~(I), (D)-(I1I)
11
) 2
(3) 3
(4) 4

mm

=




&. é‘%ﬂ'—[‘ﬁgﬁ"ﬁ? L [E
N

D. [(RTeATL IV. =]

H= fow o et § & wE s = A

. (A)-(I1), (B)~(I), (C)-(IV), (D)-(III)
(A)-(D., (B)-(IV), (C)-(I1I), (D)-(1I)
(A)-(IV), (B)-(III), (C)-(II), (D)-(I)
. (A)-(I1), (B)-(IV), (C)~(I), (D)~(I1I)
11
(2) 2
(3) 3
(4) 4

b D =

e

1[Option ID=11065]
2[Option ID=11066]
3[Option ID=11067]
4[Option ID=11068]

Sl. No.68
QBID:171068

Match List I with List IT ;

List I List IT
A |The presentation of Self i Evervday lifg 1. |1963
B. |Behaviour in Public Places II. 1959
C. |Gender Advertisements II1. |1967
D |Interaction Ritual IV |1976

Choose the correct answer from the options given below :

L. (A)-(IIT), (B)-(II), (C)-(I), (D)-(IV)
2. (A)-(IV), (B)-(ID). (C)-(I). (D)-(III)
3. (A)-(ID), (B)-(I), (C)-(IV), (D)-(III)
4. (A)-(D), (B)-(I1I), (C)-(IV), (D)-(11)

1) 1

) 2

(3) 3

(4) 4




A -1 F T FA-11 7 7= Hifsw

a\ﬂnf_l w_ I

A |G TSI ATH ﬁﬁq"ﬁﬁ'ﬁ% ARS] L [1963
B. %% Gl st THES- m (1959
c |'SFET TEETEETH - m.|1967
D |-3THRM frgsTa- . [1976

H= fow o et § & wE s = A

(A)-(III), (B)-(II), (C)~(I), (D)-(IV)
(A)-(IV), (B)-(II), (C) (I_, (D)-(I1I)
- (A)-(ID), (B)-(I), (C)-(IV), (D)-(III)
(A)-(I), (B)-(IIT), (C)-(IV). (D)-(II)

L.
2.
3

4.
1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=11069]
2[Option ID=11070]

3[Option ID=11071]
4[Option ID=11072]

Sl. No.69
QBID:171069

Match List I with List IT ;

List I List I1
A [Koodivattam 1. [Maharashtra
B. [Yakshagana II. [Kerala
C. |Bhandpather |IIL [Kamataka
D. |[Tamasha IV, [Kashmir

Choose the correct answer from the options given below :

L. (A)-(IIT), (B)-(II), (C)-(I), (D)-(IV)
. (A)-(IT). (B)- (IH) (C)-(IV), (D)D)
(A)-(IV), (B)-(D), (C)~(ID), (D)-(I1I)

. (A)-(D, (B)-(III), (C)-(IV), (D)-(1II)

11

) 2

(3) 3

(4) 4

mm

=




A -1 F T FA-11 7 7= Hifsw

Q\?ﬁ—r Q\?ﬁ—u
A [FfEATER |1 HETE

B. [A&TTTH . [hled

c. [ATETR | [T
D. [THTIT Iv. [T

= f5u U T ¥ ° HE ST 9 =9 HIe
- (A)-(IIT), (B)-(IL), (C)~(I), (D)~(IV)
A)-(II), (B)~(I1L), (C)-(IV). (D)~(I)
A)-(IV), (B)-(I), (C)-(II), (D)~(III)
A)-(D), (B)-(IID), (C)-(IV), (D)~(II)

b D =

e
e

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=11073]
2[Option ID=11074]

3[Option ID=11075]
4[Option ID=11076]

Sl. No.70
QBID:171070

Match List I with List IT ;

List I List IT
A |Shitala I |God of Death
B. [Manasa II. [The mistress of the sixth day
C. [Shashthi I11. |The mistress of snake venom
D [Yama IV, |Goddess of 1llness

Choose the correct answer from the options given below :

L. (A)-(IV), (B)-(III), (C)-(II), (D)-(I)
2. (A)-(ID), (B)-(IV), (C)-(I1I), (D)-(I)
3. (A)-(I), (B)-(II), (C)-~(III), (D)-(IV)
4. (A)-(IIT), (B)-(I). (C)-(I1), (D)-(IV)

1) 1

) 2

(3) 3

(4) 4




A -1 F T FA-11 7 7= Hifsw

B. [HAHT II@%%?ZﬁfaTﬁmﬁ
c.qﬁi_! [II.Hé%qa%aﬁTBﬁD[

D. {8 Iv. [BTOTT i Zat

H= fru o fgedt § & w8 T W == Fif

L. (A)-(IV), (B)-(III), (C)-(II), (D)-(I)

2. (A)-(ID). (B)-(IV). (C)-(I1I). (D)-(I)

3. (A)-(I), (B)-(II), (C)~(III), (D)-(IV)
4. (A)-(II1). (B)-(I). (C)~(II), (D)~(IV)

11

(2) 2

(3) 3

(4) 4

e oS

1[Option ID=11077]
2[Option ID=11078]
3[Option ID=11079]
4[Option ID=11080]

Sl. No.71
QBID:171071

Match List I with List IT ;

List IT List IT
A |Stone henge 1. |Cambodia
B. [Borobuder II. |Bhutan
C. |Taktsang 11T |Indonesia
D |Angkorwat IV, [United Kingdom|

Choose the correct answer from the options given below :

1. (A)-(I), (B)-(III), (C)~(I), (D)-(IV)
- (A)-(D), (B)-(IIT), (C)-(II), (D)-(IV)
(A)-(IV), (B)-(III), (C)-(II), (D)-(I)
. (A)-(IV), (B)-(I). (C)~(III), (D)-(II)
1) 1
) 2
(3) 3
(4) 4

d b

=




A -1 F T FA-11 7 7= Hifsw
@c‘_l q\?ﬁ._[l

A [E2H %F-Tr[ L 2
B. Ef‘m@ﬁt I I
c [@FET |m )
D. [sTTeRITETe | 1v '«EI'IE-%E Torren

(

o=

o,

= fZU U faeT ¥ | A I A =Ed A
- (A)-(I), (B)~(I1D), (C)-(I), (D)-(IV)
A1), (B)~(IID), (C)-(II), (D)-(IV)
A)-(IV), (B)-(IIT), (C)~(IT), (D)~(T)
A)-(IV), (B)-(D), (O)-(III), (D)-(ID)

b D =

e ST

e

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=11081]
2[Option ID=11082]

3[Option ID=11083]
4[Option ID=11084]

Sl. No.72
QBID:171072

Match List I with List IT ;

ListI List IT
. |Warli Folk paintings | I. [Madhva Pradesh)
Tanjore paintings II. [Tamil Nadu
adhubani paintings| I11. [Maharashtra
[Bheel paintings IV. Bihar

o|o|w|x

Choose the correct answer from the options given below:

L. (A)-(II), (B)-(I), (C)-(IV), (D)-(III)
2. (A)-(D), (B)-(IV). (C)-(I1I), (D)-(II)
3. (A)-(IV), (B)-(II), (C)-(I1I), (D)~(I)
4. (A)-(IIT), (B)-(II), (C)-(IV), (D)-(I)

11

) 2

(3) 3

(4) 4




A -1 F T FA-11 7 7= Hifsw

H\%ﬁ—I ‘{5!\%"]‘—11
A [Felt A | 1@ [T Tem
B [ ferrer IL Hﬁ?l‘rl’@
&. Hgﬁ——ﬁ Ell L. [[AERTE
D. (it %l'ﬂﬁl’ﬁ V. %81'{

H= fru o fgedt § & w8 T W == Fif

L. (A)-(ID), (B)-(I), (C)-(IV), (D)-(I11I)

2. (A)-(D), (B)-(IV), (C)-(III)., (D)-(1II)

3. (A)-(IV), (B)-(II), (C)-(11I), (D)-(I)
4. (A)-(IIT). (B)-(IT). (C)-(IV), (D)-(I)

11

(2) 2

(3) 3

(4) 4

e ST

1[Option ID=11085]
2[Option ID=11086]
3[Option ID=11087]
4[Option ID=11088]

Sl. No.73
QBID:171073

Match List I with List IT ;

List I List IT
A |Phulkari I |West Bengal
B. |Gota II. [Tamil Nadu
C. |Toda 1. [Lucknow
D [Kantha IV, [Punjab

Choose the correct answer from the options given below :

L. (A)-(IV), (B)-(III), (C)-(II), (D)-(I)
. (A)-(II), (B)-(IV), (C)-(III), (D)-(I)
. (A)-(IIT), (B)~(II), (C)-(IV), (D)-(I)
. (A)-(II). (B)-(I), (C)-(III), (D)-(IV)
11
) 2
(3) 3
(4) 4

d b

=




A -1 F T FA-11 7 7= Hifsw

P@QI—I H\iﬁ—n
N 1 [Ivfe S
B [T IL H&IFFI'S‘

c. [@rET nL [ AA83T3
D. [FT2T Iv. [T

H= fru o fgedt § & w8 T W == Fif

L.
2.
3

—~

4.
1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=11089]
2[Option ID=11090]

3[Option ID=11091]
4[Option ID=11092]

A)-(IV), (B)-(IIT), (C)-(II), (D)-(I)
A)-(II). (B)-(IV). (C)-(III). (D)-(I)
. (A)-(III). (B)-(II). (C)~(

A)-(ID). (B)-(I). (C)-(I1I), (D)~(IV)

(IV), (D)-(I)

Sl. No.74
QBID:171074

Match List I with List IT ;

List I List IT
A |Genna 1. |India
B. [Kho-Kho II. [Ethiopia
C. |Cirit IT1. [Brazil
D. |Peteca IV [Turkey

Choose the correct answer from the options given below :

L. (A)-(ID), (B)-(I), (C)-(IV), (D)-(III)

2. (A)-(IIT). (B)-(ID). (C)-(I),
3. (A)-(II), (B)-(III). (C)~(I), (D)-(IV)
- (A)-(IV), (B)-(II), (C)~(I),

=

1)1
(2) 2
(3) 3
(4) 4

(D)-(IV)

(D)-(III)




A -1 F T FA-11 7 7= Hifsw
@c‘_l @Q'_H

A= L [T

B [@-@ | u [reEE
c. [ferfia 1. [TSTreT

D. [Ia V. g‘ﬁ

= fZU U faeT ¥ | A I A =Ed A
- (A)-(II), (B)-(I), (C)-(IV
A)-(IID), (B)-(ID), (C)T
A)-(I1), (B)-(TI), (C)-(I
A)-(IV). (B)-(ID). (C)(1

D)-(I1I)
D)-(IV)
D)-(IV)
D)-(III)

b D =

X
J;
),
).

— — — —
i

e

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=11093]
2[Option ID=11094]

3[Option ID=11095]
4[Option ID=11096]

Sl. No.75
QBID:171075

Match List I with List IT ;

ListI List IT
. |Angika Abhinava| I [Expressing through speech, songs music and dialogues
[Vachika Abhinaval II. |[Expressing through jewellery, costume and make up
|Aharva Abhinaya | I1I. [Expressing using body movement such as movement of hands, legs and limbg
_ |Satvika Abhinava | IV. [Expressing through state of mind of the character

o|a|w|=

Choose the correct answer from the options given below :

L. (A)-(IT), (B)-(III), (C)-(I), (D)-(IV)
2. (A)-(IV), (B)-(IT), (C)-(I1I), (D)-(I)
3. (A)-(IIT), (B)~(I), (C)-(II), (D)-(IV)
4. (A)-(III), (B)-(IV), (C)-(I), (D)-(ID)

11

) 2

(3) 3

(4) 4




A -1 F T FA-11 7 7= Hifsw

-1 -1
A [T SAT9TF| 1 [T, Td, T SR Hag F AEAR H AESIE FAT
B [ATfEh SIT9FT | 0. [SEETd, SPT-H91 T R % "IETH F SASEE FAl
F19T, W AR AW F FEE SH A HEAA F ST FA g AT
EDEl

v [ara @ Tt % meam | sfyss T

C. 33!'13"3[ AT |m

ElGCET

fr= fou U T § | wE ST @ = e

- (A)-(II), (B)~(III), (C)-(I), (D)-(IV)
(A)-(IV), (B)~(II). (C (III .(D)-(D)
(

(

b.ih..ib—-—t

A)-(IIT), (B)-(I), (C)-(II), (D)~(IV)
A)-(IID), (B)-(IV), (C)-(I), (D)~(IL)

=~

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=11097]
2[Option ID=11098]

3[Option ID=11099]
4[Option ID=11100]

Sl. No.76
QBID:171076

Arrange the folklore centres :
The Jawahar Kala Kendra, Janapada Loka, Jawaharlal Nehru State Museum and Folklore Museum in an order of
situated in the regional territories

A. Mysore

B. Arunachal Pradesh
C. Karnataka

D. Jaipur

Choose the correct answer from the options given below :

1.(A). (B), (C). (D)
2.(D), {A ), (C)
3.(C). (B). (D) (A)
4. (D), (C), (B),(A)

(1) 1

(2) 2

(3) 3




feferEa AR-a1a F51 I T AT AT F STHEE AR ET FIST - A ST F,

- 5 G
SR ST, AT 59 JIeed, -3l e |

A B

B. A®UMTA EI-\E"\-J.I
C. FATEF

D. S
= U U T § ¥ W@ ST 6 == e

-(A). (B), (C) (D)
(D). (A). (B). (C

(C). (B), (D) ,(A)
(D). (C). (B). (A)

"._})I‘-.J»—--u

=

1) 1
() 2
3) 3
4) 4
1[Option ID=11101]
2[Option ID=11102]

3[Option ID=11103]
4[Option ID=11104]

Sl. No.77
QBID:171077

Arrange the writers :
Barre Tolkien, Jan Brunvand. Alan Dundes, Richard Doreson with their works

A. Folklore and Folklife

B. The Study of Folklore

C. The Study of American Folklore
D. The Dynamics of Folklore

Choose the correct answer from the options given below :

1. (B). (A). (D), (C)
2.(A), (B), (C), (D)
3.(A).(D).(C). (B)
4.(D).(C),(B),(A)

@ 1

@ 2

(3) 3

(4) 4




=g zremI

A. “HTIFAN TZ FTHFARE”

B.7 T2E ATE FlFaAl

C.7 TTF ATF AHTFA BT
?

-‘

=TIAEFE ATF FIFAR

D.

= U U T § ¥ W@ ST 6 == e

B). (A), (D). (C)
(A) (B). (C) (D]I
C).(B
) (A)

"._})I‘-.J»—--u

(A). (D),
(D). (C), (B :

=

1)1
(2) 2
3) 3
(4) 4
1[Option ID=11105]
2[Option ID=11106]

3[Option ID=11107]
4[Option ID=11108]

Sl. No.78
QBID:171078

Arrange the genres :
Monograph, Moral Fable, Buddhist Didactic Tales, Finish National Epic with their respective works

A. Essai Sur Les Fables Indiennes Et Sur Leur Introduction En Europe
B. Indie origin for the Apologie

C. Panchatantra

D. Kalevala

Choose the correct answer from the options given below :

(A). (B).(C). (D)
(B). (C), (D), (A)
(A), (D), (C), (B)
B). (D), (C), (A)

L D =

=
=

(1) 1
) 2
(3) 3
(4) 4




fefetaa [T i S79 T Fioa F TER TIHREa Fiee - &y, Afas fifaea, 915
STETMeRS F4ATt, fEm ada aererA|

A, THIZ T @F FEEH 32999 T2 T AR ¢ 3EHE T T
B.3fz® SAISH $R Z waieAis®

C. T=IT
D. Uﬁrﬁar:![

= U U T § ¥ W@ ST 6 == e

L. (A). (B), (C). (D)
2. (B). (C), (D) (A)
3.(A). (D), (C). (B

(B), (D), (C), (A)

=

1)1
(2) 2
3) 3
(4) 4
1[Option ID=11109]
2[Option ID=11110]

3[Option ID=11111]
4[Option ID=11112]

Sl. No.79
QBID:171079

Sequence the ftitle of the books : The Bhil, The Warlis, The Chenchu, The Kamar — with their writers

A.K.J. Save
B. T.B. Naik
C.S.C. Dube
D. C. Furer-Haimendorf

Choose the correct answer from the options given below :

(D). (C), (B), (A)
(C). (D). (A). (B)
(B). (A). (D), (C)
(A). (B). (C). (D)

S N

1) 1

(2) 2

(3) 3

(4) 4
o~

ha ™,
FreteTad TEa 1 ST @ & FATTE 59491 HITST : 3 HWIF, § aTfed, 3 =ed, § FAR

A RS, BT

B. 2151, ATTF
C.TA.H. 3%

D. T, FE-TETS

= fou U faweT § 1 wd ST w =g i

D). (C). (B).

. ( A
(C), (D), (A),

(

(

I:)JI'JI--—J

B). (A). (D).
A), (B), (C).

)
B)
C)
D)

=
— = - =
’-‘\F‘\F‘\"-‘\




1) 1
(2) 2

(3) 3

(4) 4

1[Option ID=11113]
2[Option ID=11114]

3[Option ID=11115]
4[Option ID=11116]

Sl. No.80
QBID:171080

Propp identified the different categories of elements that define the construction of a tale. Arrange them in the
correct sequence :

A. Functions of dramatic personae

B. Conjunctive elements

C. Motivations

D. Forms of appearance of dramatic personae

Choose the correct answer from the options given below :

(A), (B) (C). (D)
(D) (A), (€). (B)
(C). (D), (B), (A)
4.(B). (C). (D). (A)

1
2.
3

1) 1
(2) 2
(3) 3
4) 4

T F qear it s AfomE i oemna i, S R war i " A i At 81 5
ATHHT AT

A FqTZHT I T

B. THTHCHF dcd

C. SAfqTTer
D. AT I F TFS &4 & 9

H=1 fou U fameT § ® wE T @ == i

< (A {B) (C) (D)
(D) (A). (C). (B)
(C
(B

L)JI‘\.JI--—J

{D) (B) (A)
). (C). (D). (A)

I

1) 1
(2) 2

3) 3

4) 4

1[Option ID=11117]
2[Option ID=11118]

3[Option ID=11119]
4[Option ID=11120]

Sl. No.81
QBID:171081




Arrange in sequence the functions derived from 100 magical folk tales :

A. Initial situation
B. Absentation

C. Interdiction

D. Violation

Choose the correct answer from the options given below :

1. (B). (C), (D). (A)
2.(C), (B) (A) {D)
3.(A), (B), (D), (C
4.(D), {C) (B) {A)
) 1
() 2
(3) 3
(4) 4
100 ST5E & FATAT § TH THE Tl FHHA DI,
A. T Tt
B. ST{afEgfd
c. froe
D. 3ZFA
fr= f2u U ST § F H5E T A wEA A
1. (B), (©), (D), (A)
2.(C). (B). (A). (D)
3.(A), (B), (D), (C
4.(D). (C), (B). (A)
1) 1
) 2
3) 3
(4) 4

1[Option ID=11121]
2[Option ID=11122]
3[Option ID=11123]
4[Option ID=11124]

Sl. No.82
QBID:171082

Sequence the approaches — Structural, Functional, Psychological, Post Structural with the theorists who followed
them :

A.C.J. Jung

B. Emile Durkheim

C. Ferdinand de Saussure
D. Derrida

Choose the correct answer from the options given below :

(D) (B). (A). (C)

C). (B), (A .(D)
(A), (B). (C), (D)
(D), (C), (B), (A)

L)J"\.Jb—-n

=

1)1
(2) 2
(3) 3
(4) 4




=T ST FEATCH S, FECHE, FATITAE, ST HEATCAF B39 HERaER FATER

oy

AT U e FTH ATFO A 2|

A HUST, T
B. 391381 3
D. zfEr

= U U T § ¥ W@ ST 6 == e

(D), (B), (A). (C)
. (C). (B). (A). (D)
.(A), (B), (©), (D)
(D), (C), (B). (A)
1) 1
) 2
3) 3
(4) 4

b D =

.

1[Option ID=11125]
2[Option ID=11126]
3[Option ID=11127]
4[Option ID=11128]

Sl. No.83
QBID:171083

From the concept of Purushartha, the sequence of the four goals-Dharma, Artha, Kama, Moksha, may be
matched with the following ideas:

A. all desires in menkind, seeking sensual pleasures

B. conceptual forces in men, society and universe

C. all the means for acquiring worldly prosperity

D. salvation and liberation from the endless cycle of births and deaths

Choose the correct answer from the options given below :

1. (C). (B). (A), (D)
-(B), (D), (C). (A)
. (B). (A), (O), (D)
-(B). (C), (A), (D)
@ 1
@ 2
@) 3
) 4

b

=




TS F FAFIRON F AR A, 99, G, FH AR A w7 FEfatea 7 5 T F g
Trfraa foram s aar 27

A. 3 qrT-faems & T A @Sl § JeE 3T

B. T¥91, TATS, a1, fava Y=1e &1 ATeqF Jd YR 5

C. AT J9T WH A F A @

D.H R §eg F STagH T F 4

= U U T § ¥ W@ ST 6 == e

1. (C), (B),(A). (D)
2. (B), (D), (C), (A)
3.(B). (A), (C). (D)
4. (B), (O), (A), (D)

1) 1

) 2

3) 3

(4) 4

1[Option ID=11129]
2[Option ID=11130]
3[Option ID=11131]
4[Option ID=11132]
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Sequence the ethnic groups ; Ho, Telugu, Rabha, Maithili with their respective counterparts:

A. Sino-Tibetan family
B. Dravidian family

C. Austric family

D. Indo-European family

Choose the correct answer from the options given below :

(B). (C), (A), (D)
(C). (B). (A). (D)
(D). (B), (A),(C)
.(A). (B), (C), (D)
1) 1
(2) 2
(3) 3
(4) 4

AT TR - B, do], T ST AU F S9H TEiaa GUEE] Y FATER SAEarEd s

A. =i -fassdt afam

B. 3foe Oftam

C. FifeeHh TiEan

D. 331-FATFT qitam

= fou U faweT § 1 wd ST w =g i

S N

1. (B), (C), (A), (D)
2.(C),(B),(A), (D)
3. (D), (B), (A), (O
4. (A). (B). (C). (D)




(1) 1
(2) 2
3) 3
4) 4
1[Option ID=11133]
2[Option ID=11134]

3[Option ID=11135]
4[Option ID=11136]
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Sequence the experts ; Mckim Marriot, Makhan Jha, Surjit Sinha, L.P. Vidyathi with the concepts they
propagated :

A. Tribe-caste continuum

B. Sacred Complex

C. Nature-Man-Spirit-Complex

D. Universalization and Parochialization

Choose the correct answer from the options given below :

.(A). (B), (D), (C
(D) (B), (A), (C
(B) (A) (D
] (A). (B). (D

'LJ«JI“-Jb—v-»

)
)
)
)

i

1) 1
(2) 2
3) 3
(4) 4

fr=ferfaa faemst = s7 g afemiiga STaamonst & |19 FEgEn Saredd Fifee o 3fe
fre, areA 7, i fFea, et faand

A, STSTIG -STfd HTqcTh
B. Ufad Ut

o [ .
C.Whid, =4Ith, ATCHI, ufe

D. HIEHIHFO AW AERATS
= fZu U fSeT ¥ ¥ |WE ST wEA IS

1. (A), (B). (D). (C
2. (D), (B). (A). (C)
3.(C), (B), (A), (D)
4.(C), (A), (B), (D)

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=11137]
2[Option ID=11138]
3[Option ID=11139]
4[Option ID=11140]
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Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) :  As per the Public Record, acts the P.R. Rules, the record of various ministries/departments etc.
of the Govt. of India and the permanent records are shifted to National Archives of India after a period of 25
years.

Reason (R): Execution of environment shelving while handling archival records are not a pre-requisite for its
preventive and conservative measures.

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both (A) and (R) are correct and (R) is the correct explanation of (A)
2. Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
3. (A) is correct but (R) is not correct
4. (A) is not correct but (R) is correct
1) 1
) 2
(3) 3
4) 4

-'-ﬁ%[ EFJd?%’QTI'Q% T éTE—"I?FQF[ (Assemon(A)) aamn%rﬁaﬁ%m —a%?mw (Reason
(R) FETH :

AFRIT (A) :  TEA AT, e R faR. FEEl F TTER YRa WER F fafae
AT /TA9T &1(5 % ATSE 9o TG ANSE B 25 F9 F SFAT F q1E G TP
AHAGIR | AT T e 2

T (R) ANHGTR F ATAGT F TS99 H A F FAIFA O § TG qdt FEmaTT
T TFAHHL ST TETOTCHF 3T TF T3 - SAa7TFA 98 2

ST FYF F ATATE °, 9 U T AT ¥ ¥ 999 SUgT I R w9 A

1.(A) 3T (R) 31 =& & & (R), (A) Ft =&t =ame 3
2.(A) ¥ (R) 3F1 ®E 2, & (R), (A) Fit 561 =0T 76 2
3.(A) 7@ 3, wfF (R) wd 78 2

4.(A) =8t 79 &, @ifFA (R) 72 2

1[Option ID=11141]
2[Option ID=11142]
3[Option ID=11143]
4[Option ID=11144]
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Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R.
Assertion (A) :  According to Sigmund Freud, dream symbols are the most sexual in meaning.

Reason (R): Thus all dreams have a sexual connotation.

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both (A) and (R) are correct and (R) is the correct explanation of (A)
2. Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
3. (A) is correct but (R) is not correct
4. (A) is not correct but (R) is correct
1) 1
() 2
(3) 3
4) 4




-'-ﬁ%[\ EJ?%QTI'E{% @J&W(Assemon{m)ﬁmq%ﬁﬁﬁ%ﬁ _H%W(Reason
(R) FETH :

AfFeT (A) :  foomg w9 F o9 T F s fRr 99 i 3T | qaE 9T |
AATF B 2

For (R) aa:, Tt = B NTEE TG99 2

ST FUA F ATATE H, A9 75U TC AT § H H96E ST I AT e

1. (A) ¥R (R) 31 7 & AR (R), (A) i 7 =08 3
2.(a) 3R (R )’Fﬁﬂﬁ% At (R), (A) & =2 = 78 3
3.(a) w2 3, WA (R) W2 79 2

4(A)wﬁﬁ% St (R) =8 2

1[Option ID=11145]
2[Option ID=11146]
3[Option ID=11147]
4[Option ID=11148]
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Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R.
Assertion (A) :  The task of a scholar is not to pass judgements on change rather to acknowledge that it exists
and constructively describes and analyses its dynamics

Reason (R): There should be recognition of the fact that change is not necessarily negative. Change is neutral,
it is neither good not bad, it may be either; it may be both.

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both (A) and (R) are correct and (R) is the correct explanation of (A)
2. Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
3. (A) is correct but (R) is not correct
4. (A) is not correct but (R) is correct
11
) 2
(3) 3
(4) 4

ﬁ%ﬁ%%%@"ﬂ{% : Q?Bfﬂﬁﬁﬁ‘a? (Assemon(A)) +F &9 H foiaa %?‘ﬁf‘{-{(l IHE R (Reason
(R)) FETH :

AYFIT (A) :  TFEH fEagE =1 w6 uiEad & 96 ¥ FuE g9 T8, Siod 978 TR FHAT E 6 T8
forem 2 a9 sHe Tad B EEATHS © H 99 AR faveeer w2

For (R) 39 92T F AT @ AT TR T UiEad SATEavTE T F THCAF T8 2|
it foTet e 3, T8 7 A1 A=S1 8, 7 & AW, T8 AEI H § TF o FHT & T Gl & qA 2
ST FUT F ATNF §, A9 5 U e § | gew sy I w99 Fifew

—

(a) @

(A) &R (R )’Fﬁ?ﬁ’}% ?lﬁh‘—l(R) (A)ﬁﬂﬁ@r@nﬂﬁ%
(a) =& 3, @fF (R) 58 78 2

4.(A) W& TH B, S (R) 78 B




3) 3
(4) 4

1[Option ID=11149]
2[Option ID=11150]
3[Option ID=11151]
4[Option ID=11152]
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Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R.
Assertion (A) :  Holistic scope of folklore implies that all aspects of culture are inter-related.

Reason (R) : Festivals have many important dimensions to them such as economic. political, recreational and
religious.

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both (A) and (R) are correct and (R) is the correct explanation of (A)

2. Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
3. (A) is correct but (R) is not correct

4. (A) is not correct but (R) is correct

) 1
() 2

(3) 3

(4) 4

=ﬁ%[-\ ?J'—Fﬁ"l"l'({% WW(ASS&UOMA))%WH%‘:@H%E W%W(Reason
(R) FETH :

AMFIT (A) : R FMEcT F THY FA-E ° Hied & 6 GEFQ 5 T 08 TR-FEtaa 2
F1oT (R) I o0 TOmrE ¥ SHE HEcAYO SATAM 3, SE-AidE, TSHiOE, BN S

TH|

ST FUA F AR H, A 5T TC AT ® W w6E ST I W e i
) R (R) Z1 HE B R (R), (A) 1 = =mEm 2

) i (R )’Fﬁ?ﬁ% SfF (R), (A) it 78 =arem 78 ¥

) T8 3, dfF (R) w& T 3

)’Tﬁ:l??f% = (R) w& %

mu»—a
e T oo T e S

N

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=11153]
2[Option ID=11154]

3[Option ID=11155]
4[Option ID=11156]
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Given below are two statements :

StatementI : The poetry—oral, mnemonic, mythical, traditional—of the folk groups can be termed as place-
bound, space-bound location-bound, time-bound and relationship-bound in a multi-cultural country like India.
Statement IT  :  Still oral poetry cannot spread its beauty and charm on the voice, language and lore of any

given culture.
In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false
4. Statement I is false but Statement II is true

11

) 2

3) 3




4) 4
= 21 Fga fag o R

97 (1) : AF e & AREH, TaH, TV AR TEIE F53 T I JTH a8-HEHaH
27 ¥ TIOE g, HONE, JAEAaeg, 999G SN §999g & ®9 ¥ FE S Tl 2

F4 (1) : ot oft, Hifas Fr=7 fRet oft 3 15 F¥fa & T, 919 AR SAYfd W S Higd
ST ATFIY B FAT TG ATl

ST FU9 & AR ¥, A= 5T U G § ¥ 98 3T 1 == it

7w (1) & (1) 39 53 8
LFEA (1) 3 (1) 3T e #
9 (1) |eF B, A 9 (1) 19T 3

Fe (1) F9cT B, AT F97 (1) 7T 3

1)1
(2) 2
(3) 3
(4) 4

—

2

(%]

159

1[Option ID=11157]
2[Option ID=11158]
3[Option ID=11159]
4[Option ID=11160]
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Read the following passage and answer the given questions that follow :

Many problems arise when adapting the oral form of folk tales into written form. The traditional forms of the
lyrics of folk songs are more or less set. There are minor variations from their traditional forms due to lapses in
memory, but remembering the lyrics by heart is a key skill of the singer. But old folktales are another matter
altogether. The main thing is storyline. Thereafter, it is the storyteller’s creativity, imagination, narration,
intelligence and memory, which nurtures and brings out the beauty of the storyline. There are some storytellers
who are so bad that they can ruin a story, while others can tell a story so beautifully that the story just must be
heard. When every storyteller tells these ancient stories in their own styles, then after hearing a story, writing it as
exactly as it was heard is also not enough. A command of the language alone is not enough to write a folk tale;
for this, along with a command of the language. a command of the art of storytelling is of utmost importance.
When telling a story, the storyteller is in front of us and the listener and the storyteller have an attachment.
When a storyteller tells a story in flesh and blood, then along with his/her tongue, the emotions on her face, her
hands and her eyes all work together—this gives the story agility, sweetness and a life force; But in the case of
written stories, the writer remains invisible. Because of this. there is no attachment between the writer and the
reader. A writer must make up for the emotions on her face, her hands and her eyes through his writing alone. So,
knowing the language well is not enough on own. Many other things are essential for this A familiarity with old
tales the rituals and customs of society history and sociology and most important, the art of writing. Broadly
speaking. without these things, a written story remains flawed.

1 TUTE w1 U3 va e o= uvAt #7132

Frefafes mawm F1 amyEs u3 oR 39F I15 uve & I i)

SEA ©1 S 99 @3 E6l 5, 99 @ SATH & HINgE B &I [Afgd 1 d FIFa A S 2| 9 a5 S w
mrerfi w7 9 faa 2 ) el gw % e 9% oreis w0 8wy ofeds 29 3, afed o @ e vgan s @
0E &ITE 2Y died, TH @16 H4T0 0 Her 59T 2| 567 919 S90S 2| 369% 915, 9= S gegieal, de,
a3, gfgE @R wfd 2, S FumE 71 GFa 9 & 591 39F died 31 9WE I 2| $9 U8 SUEES &, 9 507 8% 8 1%
J US FYT F GeAET FGHd 2| e FF FAETEE FAT F 39491 G § FAd 2 6 39 WG g IF 10| 99 g
FATITES 37 TEH ST F1 T3 FHT AT T 95qa T 2 a1 39F 915 [ 91 S 1, Gl T3 FI7 & 92405 57 4
forg=1 TaTe 937 2| Tl @1% &1 & fovgd § 9T R S=d TS Sl J4TH A7l 2T, Sied 97N R 996 T65S & 919 F97
= & T W =S THE FcafaE gEcaq0l 2| FT IS FIT Fedd Fa @97 59K T FIGT 2 SR A1 U9 SEEE &
&9 g1y LT 2|

I F§ FAEEF TR ITCHT S F9T TEGT FAT 2 A 98 F qFF T a9 a1 2, I9F 958 W 09 T2 A0 5, 9%

-

219 UF HE -Gl UF 19 FE G 2| T2 FAT I UG, GG AR Sadar g wa 2 dfes, g wael w ame § dww

FEIAH A1 2| 36 FRY g SR TSF & 19 GoitH 21 21| UF g & Fbol oigd & Jreqq ¥ Fu 9=, 94 24
R AT AT W g HIIT OH TR0 FA: 9IS F Sl 2 W FdT 2F1 SFIH FFH TIE 75 2| 396 6 FHE e
HEATATF 2| [WHI FA1E], TI & SHES] F1 Ad-Ra, 3f0a™ 19 g=wre a0 Faias Tacaq0 g -Fal § SAqgad
HCAETIF 2| Hie TR W T2 a1 3 =61 & o1 uss fefga s 3ot e R

What gives life to an oral tale told by a story teller?

1. tone and context
2. citation and research
3. convincing manipulations
4. body language of the story teller
1
(2 2
(3) 3
(4) 4

Teret 9T I T U1 & ARG T9F FH4 H T SiEadn adr 27

1. T AR "959

2. IZIOT HAW WA

3. foramTeTgS W-

4. 91 FTEF h AE Ta-9T
(1) 1

) 2
3) 3




(4) 4

1[Option ID=11161]
2[Option ID=11162]
3[Option ID=11163]
4[Option ID=11164]
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Read the following passage and answer the given questions that follow :

Many problems arise when adapting the oral form of folk tales into written form. The traditional forms of the
lyrics of folk songs are more or less set. There are minor variations from their traditional forms due to lapses in
memory, but remembering the lyrics by heart is a key skill of the singer. But old folktales are another matter
altogether. The main thing is storyline. Thereafter, it is the storyteller’s creativity, imagination, narration,
intelligence and memory, which nurtures and brings out the beauty of the storyline. There are some storytellers
who are so bad that they can ruin a story, while others can tell a story so beautifully that the story just must be
heard. When every storyteller tells these ancient stories in their own styles, then after hearing a story, writing it as
exactly as it was heard is also not enough. A command of the language alone is not enough to write a folk tale;
for this, along with a command of the language. a command of the art of storytelling is of utmost importance.
When telling a story. the storyteller is in front of us and the listener and the storyteller have an attachment.
When a storyteller tells a story in flesh and blood, then along with his/her tongue, the emotions on her face, her
hands and her eyes all work together—this gives the story agility, sweetness and a life force; But in the case of
written stories, the writer remains invisible. Because of this, there is no attachment between the writer and the
reader. A writer must make up for the emotions on her face, her hands and her eyes through his writing alone. So,
knowing the language well is not enough on own. Many other things are essential for this A familiarity with old
tales the rituals and customs of society history and sociology and most important. the art of writing. Broadly
speaking. without these things, a written story remains flawed.

= T %1 U2 ua e uTe goAt #7132

Trefefea T F1 aHYEE U3 @R 35E 97 UvA & IR S|

TEd | THEATU 99 W] Bl 5, T9 A% FUTH % WIGE B9 F1 [Grgd €9 § FIF@d (691 901 2| wi A 5w
TRETfiE w7 9 e 2 2| w0 $m % FRe % ks w8 9 Tieds a0 2, afEs wihl @ F6ed vEE e @
U Td 29 oA, THI A1 FT0 I0d: FaT T 2| 567 J9 FARF 2| 39F 9%, FIEEE F ké-ddq"]rdﬂ T,
I3, Ffgam IR =fa 2, S Fums 71 GFfa F=a § g1 9% dicd 1 9w I 2| 3 U8 FYEES 8, 9 50 ) s (%
3 TS FIT H GAHE F UGS 2| Fas AT FAEEF FI7 I 3941 Gidl O S 3 [ 38 s=E g 9= 9760 aa e
FAETEF 37 T=H FITH & 95 FH A1 3§ T¥ga Fd 2 a1 39 a5 fegl F9T ® g1, A T3 F97T T F80F &7 §
fervg T 7aTe 71 2| Tl A% &97 &1 fogd ¥ 9T 'R 30 TS Adhel TAH 731 211, s Y W A6d T6S & 919 59
I H FAl R F=d] Theg FAATE Tecdql 2| F97 996 U7 Tedd 90 GHF R G a1a1 2 SR AT U FIEEE &
EIER DRI

99 % S9EES guin 37fead omh{ FIT T FAd1 8 91 98 FAH] GIH § 99 Il 2, Ih wel | HE TR 71 7, 396
719 U9 S -0l UF W S FWI 3| T8 FAT HI rrﬁ H1gd R SEaar 9eH Fal 2| dfen, [iad 418 & 30 § 9aEs
FITH Bl 2| 39 FRT wgmoﬂt qmdr.?a“ﬁ—y—lﬂ:l—l“?mwé@m?mw AR § S WE, A 4]
SR AT AFT T WIF FITE TH TR FA: 9T FH F=L W/ U F1 30 AT FFH TIE T5 21 3796 9 HF Te
HEAAF 7| [WHI FA1E], TAW & Saasl $1 Ja-Rawi, 3foam 13 goewme 901 gaifes gy aEd-Fal 9 Sfaga
AAETIF 2| WIE GR W &z af 3 A9 & A1 0% foafaa w1 g & i 2|

Regarding the politics of language vis-a-vis the story telling process, the passage implies

1. The story teller should only be articulate with a good voice modulation
2. A reader with command over the written word can be a good story teller
3. Only the command over the written and oral forms is not enough
4. Knowing a written language fluently does not imply that one has mastery over the oral discourse as well.
1) 1
(2 2
(3) 3
(4) 4




FAT I TEFAT A G F A i TG F ST § S T § fAted

1. YT IATF N TH o3 AH TIE0H F 919 Fae I 74 =106
2. fofaa e W ==t THE I UTeF U FA=IT AT AEF & qFhal 2
3. foifEa 3R Hifgs &1 T Fae =30 The 991 T8 8l
4. Tt TG YTl SRTETE 27 | SEA 9 [ieaid 98 T8 & 6 3 T 1ifgs 9o 7 off
Ao B
) 1
() 2

3) 3
(4) 4

1[Option ID=11165]
2[Option ID=11166]
3[Option ID=11167]
4[Option ID=11168]
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Read the following passage and answer the given questions that follow :

Many problems arise when adapting the oral form of folk tales into written form. The traditional forms of the
lyrics of folk songs are more or less set. There are minor variations from their traditional forms due to lapses in
memory, but remembering the lyrics by heart is a key skill of the singer. But old folktales are another matter
altogether. The main thing is storyline. Thereafter, it is the storyteller’s creativity, imagination, narration,
intelligence and memory, which nurtures and brings out the beauty of the storyline. There are some storytellers
who are so bad that they can ruin a story, while others can tell a story so beautifully that the story just must be
heard. When every storyteller tells these ancient stories in their own styles, then after hearing a story, writing it as
exactly as it was heard is also not enough. A command of the language alone is not enough to write a folk tale;
for this, along with a command of the language. a command of the art of storytelling is of utmost importance.
When telling a story, the storyteller is in front of us and the listener and the storyteller have an attachment.
When a storyteller tells a story in flesh and blood, then along with his/her tongue, the emotions on her face. her
hands and her eyes all work together—this gives the story agility, sweetness and a life force; But in the case of
written stories, the writer remains invisible. Because of this. there is no attachment between the writer and the
reader. A writer must make up for the emotions on her face, her hands and her eyes through his writing alone. So,
knowing the language well is not enough on own. Many other things are essential for this A familiarity with old
tales the rituals and customs of society history and sociology and most important, the art of writing. Broadly
speaking, without these things, a written story remains flawed.

e GuTE w1 U3 va e ot uvAt &1 3R 2

95d | 9N 99 W] Bl §, 99 e SUTH % Giigs ®9 &1 fafgd €9 § SHEed a1 9 2| S e § w i
TReTRE ¥ 9 9 2 2| Wia $m % FR0 He ks w0 8 99 TRads 24 7, dfed w6l ® #5559 TEE s @
0T HIR 2% wied, THI @& $4T0 0d: F&7 T8l &| 567 319 S90S 3| 39 916, 9= %] geRi@dl, S,
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fog T 73TH 771 | Tl & w97 & T ¥ 9T R F=0 UHs Heho T T8l 2, doe 9TV W A99d THS & 919 F9T
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I8 F§ FIEEE TR IARIT 519 FAT Tgd a1 & a 98 A J99 F 99 FHal 7, I9F ol | UHF FE 5 7, I9F

-

219 U9 S -0l uE WY F #Wd §| T5 F1 FI T, mgd IR SEda gwn a2 9, g wae & o 1 o
I 501 2| 36 AT 9EF AR TSF & §= A1 Tal a7l UTF @EE F dehd w@T & qeg8 ¥ F99 =8, TS 5
SR AT AT W W= FIT TH TR0 G 97N & =L WE U I a1 F9T FEH 79E 6 3 379 o ofw =S
AEAF 2| TWHI F41EH], T & Saas] @1 a-Rawi, sfem 13 g 901 saiias e oEd-Fal 9 Afagd
HATITTS 2| HIE G R &z ol 3 A9l & =61 & feifga a1 gfere & 2




One major problem arising out of documentation of oral tales into the written forms is

1. Convincing material
2. Authentication by quoting

3. Lapses in memory

4. Epistemological issues

1 1

2) 2

(3 3

4) 4

TIfE® FAST F AEad N F ToEd F 324 Jell UF TqE 969 3

. v aTaTeTTEF JHt
2, S5TOT T THTONHT
3. Tfa g

1[Option ID=11169]
2[Option ID=11170]
3[Option ID=11171]
4[Option ID=11172]
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Read the following passage and answer the given questions that follow :

Many problems arise when adapting the oral form of folk tales into written form. The traditional forms of the
lyrics of folk songs are more or less set. There are minor variations from their traditional forms due to lapses in
memory, but remembering the lyrics by heart is a key skill of the singer. But old folktales are another matter
altogether. The main thing is storyline. Thereafter, it is the storyteller’s creativity, imagination, narration,
intelligence and memory, which nurtures and brings out the beauty of the storyline. There are some storytellers
who are so bad that they can ruin a story, while others can tell a story so beautifully that the story just must be
heard. When every storyteller tells these ancient stories in their own styles, then after hearing a story, writing it as
exactly as it was heard is also not enough. A command of the language alone is not enough to write a folk tale;
for this, along with a command of the language. a command of the art of storytelling is of utmost importance.
When telling a story, the storyteller is in front of us and the listener and the storyteller have an attachment.
When a storyteller tells a story in flesh and blood, then along with his/her tongue, the emotions on her face, her
hands and her eyes all work together—this gives the story agility, sweetness and a life force; But in the case of
written stories, the writer remains invisible. Because of this. there is no attachment between the writer and the
reader. A writer must make up for the emotions on her face, her hands and her eyes through his writing alone. So,
knowing the language well is not enough on own. Many other things are essential for this A familiarity with old
tales the rituals and customs of society history and sociology and most important, the art of writing. Broadly
speaking. without these things, a written story remains flawed.
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The straightforward ways to increase the canon of Rajasthani literature are :

A. to eradicate dreams that are rootless and pointless

B. to document tales that have both art and imagination
C. to cast new stories and realities into ancient forms
D. to give old stories news forms

Choose the correct answer from the options given below :

B) and (A) only
C) and (A) only
C) and (D) only

1.
2.
<
4. (B) and (D) only

— — . p—

(1) 1
) 2
(3) 3
(4) 4
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(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=11173]
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Read the following passage and answer the given questions that follow :

Many problems arise when adapting the oral form of folk tales into written form. The traditional forms of the
lyrics of folk songs are more or less set. There are minor variations from their traditional forms due to lapses in
memory, but remembering the lyrics by heart is a key skill of the singer. But old folktales are another matter
altogether. The main thing is storyline. Thereafter, it is the storyteller’s creativity, imagination, narration,
intelligence and memory, which nurtures and brings out the beauty of the storyline. There are some storytellers
who are so bad that they can ruin a story, while others can tell a story so beautifully that the story just must be
heard. When every storyteller tells these ancient stories in their own styles, then after hearing a story, writing it as
exactly as it was heard is also not enough. A command of the language alone is not enough to write a folk tale;
for this, along with a command of the language. a command of the art of storytelling is of utmost importance.
When telling a story, the storyteller is in front of us and the listener and the storyteller have an attachment.
When a storyteller tells a story in flesh and blood, then along with his/her tongue, the emotions on her face. her
hands and her eyes all work together—this gives the story agility, sweetness and a life force; But in the case of
written stories, the writer remains invisible. Because of this. there is no attachment between the writer and the
reader. A writer must make up for the emotions on her face, her hands and her eyes through his writing alone. So,
knowing the language well is not enough on own. Many other things are essential for this A familiarity with old
tales the rituals and customs of society history and sociology and most important, the art of writing. Broadly
speaking. without these things, a written story remains flawed.
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Match List I with List II :

ListI List 1T
A |Oral traditions 1 In.arrationz mntelligene and memory
B. [Creativity and imagination| I |agility. sweetness and lifeforce in a folk tald}
C. |Command of language 111 fstory telling culture of Rajasthan
D A flesh and blood story IV |not enough to write a folk tale

Choose the correct answer from the options given below :

L. (A)-(I). (B)-(II), (C)~(IIL), (D)-(IV)
2. (A)-(IIT). (B)-(I), (C)-(IV), (D)-(II)
3. (A)-(IV), (B)-(I1I), (C)-(II), (D)-(I)
4. (A)-(IV), (B)-(II), (C)~(I), (D)~(III)
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(2) 2

(3) 3

4) 4
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A(A)-(D), (B)-(1II), (C)~(11I), (D)~(IV)
(A)-(TID), (B)-(I), (C)-(IV), (D)~(II)
. (A)-(IV), (B)-(I1I), (C)-(II), (D)-(I)
. (A)-(IV), (B)-(IT), (C)~(I), (D)~(I1I)
1) 1
) 2
(3) 3
(4) 4
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Read the following passage and answer the given questions that follow :

What is interesting about liminal phenomena for our present purposes is the blend they offer of lowliness and
sacredness, of homogeneity and comradeship. We are presented, in such rites, with a “moment in and out of
time,” and in and out of secular social structure, which reveals, however fleetingly, some recognition (in symbol
if not always in language) of a generalized social bond that has ceased to be and has simultaneously yet to be
fragmented into a multiplicity of structural ties. These are the ties organized in terms either of caste, class, or
rank hierarchies or of segmentary oppositions in the stateless societies beloved of political anthropologists. It is
as though there are here two major “models” for human interrelatedness, juxtaposed and alternating. The first is
of society as a structured, differentiated, and often hierarchical system of politico-legal-economic positions with
many types of evalu—ation, separating men in terms of “more” or “less”. The second. which emerges
recognizably in the liminal period, is of society as an unstructured or rudimentarily structured and relatively
undifferentiated comitatus,. community. or even communion of equal individuals who submit together to the
general authority of the ritual elders.]

[ prefer the Latin term “‘communitas™ to “community,” to distinguish this modal—ity of social relationship from
an “area of common living.” The distinction between structure and communitas is not simply the familiar one
between ‘secular™ and “sacred,” or that, for example. between politics and religion. Certain fixed offices in tribal
societies have many sacred attributes; indeed, every social position has some sacred characteristics. But this
“sacred” component is acquired by the incumbents of positions during the rites de passage, through which they
changed positions. Some—thing of the sacredness of that transient humility and modelessness goes over, and
tempers the pride of the incumbent of a higher position or office. This is not simply, as Fortes has cogently
argued, a matter of giving a general stamp of legitimacy to a society’s structural positions. It is rather a matter of
giving recogni—tion to an essential and generic human bond, without which there could be no society. Liminality
implies that the high could not be high unless the low existed, and he who is high must experience what it is like
to be low. No doubt something of this thinking, a few years ago, lay behind Prince Philip’s decision to send his
son, the heir apparent to the British throne, to a bush school in Australia for a time, where he could learn how to
rough it
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Given below are two statements :

The phenomena of ‘liminality’ implies that : the two major models include.

Statement I : The society is being structured and differentiated.

Statement I : The society is being unstructured and relatively undifferential respectively.
In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement II are correct
2. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II is incorrect
4. Statement I is incorrect but Statement II is correct
11
(2) 2
3) 3
4) 4
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Read the following passage and answer the given questions that follow :

What is interesting about liminal phenomena for our present purposes is the blend they offer of lowliness and
sacredness, of homogeneity and comradeship. We are presented, in such rites, with a “moment in and out of
time,” and in and out of secular social structure, which reveals, however fleetingly, some recognition (in symbol
if not always in language) of a generalized social bond that has ceased to be and has simultaneously yet to be
fragmented into a multiplicity of structural ties. These are the ties organized in terms either of caste, class, or
rank hierarchies or of segmentary oppositions in the stateless societies beloved of political anthropologists. It is
as though there are here two major “models” for human interrelatedness, juxtaposed and alternating. The first is
of society as a structured, differentiated, and often hierarchical system of politico-legal-economic positions with
many types of evalu—ation, separating men in terms of “more” or “less”. The second. which emerges
recognizably in the liminal period, is of society as an unstructured or rudimentarily structured and relatively
undifferentiated comitatus,. community. or even communion of equal individuals who submit together to the
general authority of the ritual elders.]

[ prefer the Latin term “‘communitas™ to “community,” to distinguish this modal—ity of social relationship from
an “area of common living.” The distinction between structure and communitas is not simply the familiar one
between ‘secular™ and “sacred,” or that, for example. between politics and religion. Certain fixed offices in tribal
societies have many sacred attributes; indeed, every social position has some sacred characteristics. But this
“sacred” component is acquired by the incumbents of positions during the rites de passage, through which they
changed positions. Some—thing of the sacredness of that transient humility and modelessness goes over, and
tempers the pride of the incumbent of a higher position or office. This is not simply, as Fortes has cogently
argued, a matter of giving a general stamp of legitimacy to a society’s structural positions. It is rather a matter of
giving recogni—tion to an essential and generic human bond, without which there could be no society. Liminality
implies that the high could not be high unless the low existed, and he who is high must experience what it is like
to be low. No doubt something of this thinking, a few years ago, lay behind Prince Philip’s decision to send his
son, the heir apparent to the British throne, to a bush school in Australia for a time, where he could learn how to
rough it
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Prince Phillip’s son was sent to the Bush school. What is the implication of this with reference to the passage?

A. Lowliness and sacredness are essential for survival

B. Liminality as a phenomena is not necessary in the society
C. Prince Philip was dissatisfied with his son

D. Individuals must equally experience high and low statuses

Choose the correct answer from the options given below :

(A) and (D) only
(A) and (B) only
(B) and (D) only
(C) and (D) only

S R O R

(1) 1
) 2
(3) 3
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Read the following passage and answer the given questions that follow :

What is interesting about liminal phenomena for our present purposes is the blend they offer of lowliness and
sacredness, of homogeneity and comradeship. We are presented, in such rites, with a “moment in and out of
time,” and in and out of secular social structure, which reveals, however fleetingly, some recognition (in symbol
if not always in language) of a generalized social bond that has ceased to be and has simultaneously yet to be
fragmented into a multiplicity of structural ties. These are the ties organized in terms either of caste, class, or
rank hierarchies or of segmentary oppositions in the stateless societies beloved of political anthropologists. It is
as though there are here two major “models” for human interrelatedness, juxtaposed and alternating. The first is
of society as a structured, differentiated, and often hierarchical system of politico-legal-economic positions with
many types of evalu—ation, separating men in terms of “more” or “less”. The second. which emerges
recognizably in the liminal period, is of society as an unstructured or rudimentarily structured and relatively
undifferentiated comitatus,. community. or even communion of equal individuals who submit together to the
general authority of the ritual elders.]

[ prefer the Latin term “‘communitas™ to “community,” to distinguish this modal—ity of social relationship from
an “area of common living.” The distinction between structure and communitas is not simply the familiar one
between ‘secular™ and “sacred,” or that, for example. between politics and religion. Certain fixed offices in tribal
societies have many sacred attributes; indeed, every social position has some sacred characteristics. But this
“sacred” component is acquired by the incumbents of positions during the rites de passage, through which they
changed positions. Some—thing of the sacredness of that transient humility and modelessness goes over, and
tempers the pride of the incumbent of a higher position or office. This is not simply, as Fortes has cogently
argued, a matter of giving a general stamp of legitimacy to a society’s structural positions. It is rather a matter of
giving recogni—tion to an essential and generic human bond, without which there could be no society. Liminality
implies that the high could not be high unless the low existed, and he who is high must experience what it is like
to be low. No doubt something of this thinking, a few years ago, lay behind Prince Philip’s decision to send his
son, the heir apparent to the British throne, to a bush school in Australia for a time, where he could learn how to
rough it
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A 7| I HAE &3 § gINE 899 $1 36 FERdl & A FA & [0 8 ofF wmE e HE F wET & FiaEa -
Afos THE a1 5| FEAT SR FHE FAa aFE @R TR F e F R i ®g i 6 2| swmmond aetfa ok
gH & = F FR| FIAEE GO & HA9F [5G WA FE57 G T0F T FdE FHied 210 8| 96g9: Sed® anieh
gfeyfa €1 e 73 GRvan 2 8, g 78 7799 9o 39 <9 7w U 91 tae & dE Ranm Rl = g efa fee
a2 fow w0 8 3= e feafa § sseme e 3a giore fageiea of feefar (sfeem) 61 9fa &1 5o o sqa
SR & 3 aﬁ?d—mrq?“crrﬁ%rﬁvaﬁwmawm%i

T2 FAS 3991 71 781 3 w91 & w3 gigpagEss 9% 57 2 fF 32 9w & wEarers gfeafn & e a9k W e
E’F‘?WWW&IW |—§?’$ra——rma——waﬁaﬁaﬁq?qma'ﬂzzimﬁrmwwaﬁﬁﬁw 2 s fom e
TR 61 399 TE B GEA1 2| Ffemeis Hgd = F9F I35 & F 99 9% 7 39 Fegm 98 21, 3= 91 3= 99 E a9
2 &N 92 &1 3= 2 34 dAFad: 95 mmmmﬂ%ﬂf—rﬁw 27 FaeE, oo% 99 @, W B w1 5o o Y fhfa
R WﬁﬁﬁTﬁﬁW{ﬁﬁﬂW& STRIEER] 7, W%Wﬁﬂﬁ%fww@ WS # FHaMlEd 91 9@ 98 39
gTET AR 191 9 )

According to the passage, what is the correct combination that entails liminality?

1. Structural and unstructural

2. Rudimentary and hierarchal

3. Hierarchy and egalitarianism
4. Homogeneity and comradeship




1) 1
(2) 2
(3) 3
(4) 4

TEYT % ATHN FeUad Tead ATHN o AW Bl IENUd T o & I8 T 87

| =AW E FJN FTHEAEE
2. Wit SR ATHF

1[Option ID=11189]
2[Option ID=11190]
3[Option ID=11191]
4[Option ID=11192]
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Read the following passage and answer the given questions that follow :

What is interesting about liminal phenomena for our present purposes is the blend they offer of lowliness and
sacredness, of homogeneity and comradeship. We are presented, in such rites, with a “moment in and out of
time,” and in and out of secular social structure, which reveals, however fleetingly, some recognition (in symbol
if not always in language) of a generalized social bond that has ceased to be and has simultaneously yet to be
fragmented into a multiplicity of structural ties. These are the ties organized in terms either of caste, class, or
rank hierarchies or of segmentary oppositions in the stateless societies beloved of political anthropologists. It is
as though there are here two major “models” for human interrelatedness, juxtaposed and alternating. The first is
of society as a structured, differentiated, and often hierarchical system of politico-legal-economic positions with
many types of evalu—ation, separating men in terms of “more” or “less”. The second. which emerges
recognizably in the liminal period, is of society as an unstructured or rudimentarily structured and relatively
undifferentiated comitatus,. community. or even communion of equal individuals who submit together to the
general authority of the ritual elders.]

[ prefer the Latin term “‘communitas™ to “community,” to distinguish this modal—ity of social relationship from
an “area of common living.” The distinction between structure and communitas is not simply the familiar one
between ‘secular™ and “sacred,” or that, for example, between politics and religion. Certain fixed offices in tribal
societies have many sacred attributes; indeed, every social position has some sacred characteristics. But this
“sacred” component is acquired by the incumbents of positions during the rites de passage, through which they
changed positions. Some—thing of the sacredness of that transient humility and modelessness goes over, and
tempers the pride of the incumbent of a higher position or office. This is not simply, as Fortes has cogently
argued, a matter of giving a general stamp of legitimacy to a society’s structural positions. It is rather a matter of
giving recogni—tion to an essential and generic human bond, without which there could be no society. Liminality
implies that the high could not be high unless the low existed, and he who is high must experience what it is like
to be low. No doubt something of this thinking, a few years ago, lay behind Prince Philip’s decision to send his
son, the heir apparent to the British throne, to a bush school in Australia for a time, where he could learn how to
rough it

et fou T T o ufEu Wi uvE % I diten

ZAR F99F YARHT % fou srive tRee & g9y 3 9% 999 38 2 T 398 @eygq o ufamar =, umw R BT 9T &=+
i g+ = fial 31 38 @E & W] § 391 g “SREH SR W=H" 997 99 Fiyg gmiesd S & Said SR 38
R 2F Sedd T s & foes wafy efo d 0fa @, 5 e emifes 997 6 78 v (837 9w w1 F 9 A
Hihfds 7 F) 2] 2 91 oFF feaed § 981 & ) 3770 w9 § 39 @l 9% Gy deams a9l § gdwe Ad o g3
Ty w27 3 e gus 71 91 afa, 9t 71 % dumss & w1 3 eryar uedifds arawtedi F 9@die o-‘lr-:iﬁ‘I(;Iﬁ HUSE FETE §
T¥ 999 I 09 & wed 1 21 2| 78 U 2 OET S 7wl 999 a9 gega, Sifaey R geaedd & A @ v e 3
Tl WiTET UH S & 2 W WG, MUEEd 8 FR FFR el ae- [ uE, ids el # amhe woe e
HeAT%d % 9igd § SER ald 2 AR 390 e ¥ :r:r=¢\t!?angwwqmwrmn|?wum~ m%mw gwg H

-

UH AT 2 T 39 30906 HfGae 5 UF GET % B H 53 2 o AEEAEg 31 FAeAHea seAeg 87 § HR FIaTEa -
ARNEHd -0, T 97 73 0% ﬁr U% GUTH AR & GUTTE & Jdadi KaTell & ST YIEER & 994 U6 a9 60
A 7| I HAE &3 § gINE 899 $1 36 FERdl & A FA & [0 8 ofF wmE e HE F wET & FiaEa -
Afos THE a1 7| FEAT SR FHHE Faa TaFE @R T3 F 99 § a9 S g i 8 2| smmond aeAtfa ok
gH & = F AR FIAEE GO & Ha73 [5G W A 957 G T6F q@0E FdiE FHied 20 8| 96g9: Seds anieh
gfeyfa €1 e 73 GRvan 2 8, g 78 7799 9o 39 <9 7w U 91 tae & dE Ranm Rl = g efa fee
a2 fow w0 8 3= e feafa § sseme e 3a giore fageiea of feefar (sfeem) 61 9fa &1 5o o sqa
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‘What is the meaning of the term, ‘communitar’, according to the writer?

1. Groups of people who are unequal in hierarchy

2. Communion of people who do not submit to ritual elders

3. Communion of individuals who partially submit to authority
4. Community of equals who adhere to the ritual of elders




1) 1
(2) 2
(3) 3
(4) 4

= = ~ ™ - £ =W
SATEF F ATHAT TFAMAATF I5 § F7 A 37

1. FATF—FE S AR § STHAN 2

2 FRT o HYE S HEATS F AR T AIEG SIS F THE FHI FA D

3. 5905 1 TR A ST T & mivwnt F awar e E

4. U THT SAEAT 1 FYEE S TIE AT o QId-Fars 1 T #=1d 8
(1) 1

(2) 2

(3) 3
(4) 4

1[Option ID=11193]
2[Option ID=11194]
3[Option ID=11195]
4[Option ID=11196]
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Read the following passage and answer the given questions that follow :

What is interesting about liminal phenomena for our present purposes is the blend they offer of lowliness and
sacredness, of homogeneity and comradeship. We are presented, in such rites, with a “moment in and out of
time,” and in and out of secular social structure, which reveals, however fleetingly, some recognition (in symbol
if not always in language) of a generalized social bond that has ceased to be and has simultaneously yet to be
fragmented into a multiplicity of structural ties. These are the ties organized in terms either of caste, class, or
rank hierarchies or of segmentary oppositions in the stateless societies beloved of political anthropologists. It is
as though there are here two major “models” for human interrelatedness, juxtaposed and alternating. The first is
of society as a structured, differentiated, and often hierarchical system of politico-legal-economic positions with
many types of evalu—ation, separating men in terms of “more” or “less”. The second. which emerges
recognizably in the liminal period, is of society as an unstructured or rudimentarily structured and relatively
undifferentiated comitatus,. community. or even communion of equal individuals who submit together to the
general authority of the ritual elders.]

[ prefer the Latin term “‘communitas™ to “community,” to distinguish this modal—ity of social relationship from
an “area of common living.” The distinction between structure and communitas is not simply the familiar one
between ‘secular™ and “sacred,” or that, for example, between politics and religion. Certain fixed offices in tribal
societies have many sacred attributes; indeed, every social position has some sacred characteristics. But this
“sacred” component is acquired by the incumbents of positions during the rites de passage, through which they
changed positions. Some—thing of the sacredness of that transient humility and modelessness goes over, and
tempers the pride of the incumbent of a higher position or office. This is not simply, as Fortes has cogently
argued, a matter of giving a general stamp of legitimacy to a society’s structural positions. It is rather a matter of
giving recogni—tion to an essential and generic human bond, without which there could be no society. Liminality
implies that the high could not be high unless the low existed, and he who is high must experience what it is like
to be low. No doubt something of this thinking, a few years ago, lay behind Prince Philip’s decision to send his
son, the heir apparent to the British throne, to a bush school in Australia for a time, where he could learn how to
rough it

et fou T T o ufEu Wi uvE % I diten

ZAR F99F YARHT % fou srive tRee & g9y 3 9% 999 38 2 T 398 @eygq o ufamar =, umw R BT 9T &=+
i g+ = fial 31 38 @E & W] § 391 g “SREH SR W=H" 997 99 Fiyg gmiesd S & Said SR 38
R 2F Sedd T s & foes wafy efo d 0fa @, 5 e emifes 997 6 78 v (837 9w w1 F 9 A
Hihfds 7 F) 2] 2 91 oFF feaed § 981 & ) 3770 w9 § 39 @l 9% Gy deams a9l § gdwe Ad o g3
Ty w27 3 e gus 71 91 afa, 9t 71 % dumss & w1 3 eryar uedifds arawtedi F 9@die o-‘lr-:iﬁ‘I(;Iﬁ HUSE FETE §
T¥ 999 I 09 & wed 1 21 2| 78 U 2 OET S 7wl 999 a9 gega, Sifaey R geaedd & A @ v e 3
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UH AT 2 T 39 30906 HfGae 5 UF GET % B H 53 2 o AEEAEg 31 FAeAHea seAeg 87 § HR FIaTEa -
ARNEHd -0, T 97 73 0% ﬁr U% GUTH AR & GUTTE & Jdadi KaTell & ST YIEER & 994 U6 a9 60
A 7| I HAE &3 § gINE 899 $1 36 FERdl & A FA & [0 8 ofF wmE e HE F wET & FiaEa -
Afos THE a1 7| FEAT SR FHHE Faa TaFE @R T3 F 99 § a9 S g i 8 2| smmond aeAtfa ok
gH & = F AR FIAEE GO & Ha73 [5G W A 957 G T6F q@0E FdiE FHied 20 8| 96g9: Seds anieh
gfeyfa €1 e 73 GRvan 2 8, g 78 7799 9o 39 <9 7w U 91 tae & dE Ranm Rl = g efa fee
a2 fow w0 8 3= e feafa § sseme e 3a giore fageiea of feefar (sfeem) 61 9fa &1 5o o sqa
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What is the basic difference between ‘Secular’ and *Sacred’?

1. First is indological and the other one is etiological

2. First is ideological and the second one is a belief system

3. The first one is mythological and the other is epitemological
4. One is general and the other is specific




1) 1
(2) 2
(3) 3
(4) 4

a9 sy T Ot & o= F= gifere T g7

1. TEA HRAMEET ¢ SR 5 &g A | "erad gl

2. TEAT AGIIRAHA § HE(Id 3 AT g8 ATEq H HHIq IO 2
3. TEE TIOT B ST gE Wi A ¥ F5e i 2

4.TF AT 3 AR gE ERTE 2
1)1
(2) 2

(3) 3
4) 4

1[Option ID=11197]
2[Option ID=11198]
3[Option ID=11199]
4[Option ID=11200]

Sl. No.101
QBID:5201001
The following table shows (1) the percentage (%) distribution of number of Maruti Cars sold in six cities A-F

and (i1) the proportion of three models P, Q and R among those cars sold. Total number of Maruti Cars sold in
these cities is 90,000, Based on the data in the table, answer the question :

City-wise Distribution of Sold Cars

Cire 4 Distribution of| Proportion of Car Models Sold

i Sold Cars P Q R
A 14.30% 7 7 4
B 16.20% 2 5 2
C 18.40% 3 3 4
D 16.80% 4 3 2
E 12.60% 2 2 1
F 21.70% 3 2 3

o aIftionT & ©% Y61 A-F B 0110 BRI &1 58 &1 (i) W= (%) faawor 3R (ii) 57 941 75 R 8§ dF
TS P, Q 3R R &1 Si0Td a1 T4 § | 4 We J &l 5 BRI &1 Sel Sl 90,000 § | AT &
HHS P YR IR Y B 3R el |

YRR (&1 TS PRI B AR 0) Ll R
P Q R
A [1430% 7 7 4
B [16.20% 2 5 2
C  [1840% 3 3 4
D [16.80% 4 3 2
E  [12.60% 2 2 1
F [21.70% 3 2 5

What is the number of Model-Q cars sold in all cities together?

1. 31255
2.31355
. 31455
. 31555
(1) 1
(2) 2
(3) 3
(4) 4

T2t wreRl © o e disd Q &1 841 T BRI B S #1 8 2

1. 31255

2.31355

3. 31455

4, 31555
@) 1

N ]




(2) 2
3) 3
(4) 4
1[Option ID=13201]
2[Option ID=13202]

3[Option ID=13203]
4[Option ID=13204]

Sl. No.102
QBID:5201002
The following table shows (1) the percentage (%) distribution of number of Maruti Cars sold in six cities A-F

and (i1) the proportion of three models P, Q and R among those cars sold. Total number of Maruti Cars sold in
these cities is 90,000, Based on the data in the table, answer the question :

City-wise Distribution of Sold Cars

Cire 4 Distribution of| Proportion of Car Models Sold

i Sold Cars P Q R
A 14.30% 7 7 4
B 16.20% 2 5 2
C 18.40% 3 3 4
D 16.80% 4 3 2
E 12.60% 2 2 1
F 21.70% 3 2 3

3 A1t & ©F WERI A-F & ORfd @RI B 161 &1 (i) W= (%) [avor &R (i) 39 8901 78 ®RI 8 i
TS P, Q 3R R &1 Si0Td a1 T4 § | 4 We J &l 5 BRI &1 Sel Sl 90,000 § | AT &
HHS P YR IR Y B IR aliord |

YRR (&1 TS PRI B AR 0) Ll R
P Q R
A [1430% 7 7 4
B [1620% 2 5 2
C  [18.40% 3 3 4
D [16.80% 4 3 2
E  [12.60% 2 2 1
F [21.70% 3 2 5

What is the difference between Model-P cars sold in city-D and city E ?

.2184
.2204
.2204
2244

| SR

N ]

1) 1
) 2
(3) 3
(4) 4

6% D 3R YR E AP 0isd P BRI & &g BT TR a1 2

L2184
. 2204
. 2294
. 2244
1) 1
(2) 2
3) 3
(4) 4

[

JIES Y]

1[Option ID=13205]
2[Option ID=13206]
3[Option ID=13207]
4[Option ID=13208]

Sl. No.103
QBID:5201003




The following table shows (1) the percentage (%) distribution of number of Maruti Cars sold in six cities A-F
and (ii) the proportion of three models P, Q and R among those cars sold. Total number of Maruti Cars sold in
these cities is 90,000. Based on the data in the table, answer the question :

City-wise Distribution of Sold Cars

Cire 4 Distribution of| Proportion of Car Models Sold

i Sold Cars P Q R

A 14.30% T 7 4

B 16.20% 2 5 2

C 18.40% 3 3 4

D 16.80% 4 3 2

E 12.60% 2 2 1

F 21.70% 3 2 3

3 aIftionT & ©% 61 A-F 8 O10f0 BRI &1 58-I &1 (i) W= (%) faawor 3R (ii) 57 941 75 R 8§ dF
TS P, Q 3R R &1 Si0Td a1 T4 § | 4 We J &l 5 BRI &1 Sel Sl 90,000 § | AT &
HHS P YR IR Y B IR aliord |

T[S T3 @RI @I &G (o) ?ﬁwqiﬁﬁ 1R
A 14.30% g 7 4
B 16.20% 2 3 2
C 18.40% 3 3 4
D 16.80% 4 5 2
E 12.60% 2 2 1
F 21.70% 3 2 >
The number of Model-P cars sold in City D is approximately % of the number of Model-R cars zold in
City A

1.145

2.185

3.83

4,235
1)1
(2) 2
(3) 3
(4) 4
g D ¥ fa®! Aisd p SR & T e A H foo! Bisd R BRI &1 T@ &1 aTHT o Ufa<id (%) § 2

1. 145

2.185

3.83

4.235
1)1
(2) 2
(3) 3
(4) 4

1[Option ID=13209]
2[Option ID=13210]
3[Option ID=13211]
4[Option ID=13212]
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The following table shows (1) the percentage (%) distribution of number of Maruti Cars sold in six cities A-F
and (ii) the proportion of three models P, Q and R among those cars sold. Total number of Maruti Cars sold in
these cities is 90,000. Based on the data in the table, answer the question :

City-wise Distribution of Sold Cars

Cire 4 Distribution of| Proportion of Car Models Sold

i Sold Cars P Q R

A 14.30% T 7 4

B 16.20% 2 5 2

C 18.40% 3 3 4

D 16.80% 4 3 2

E 12.60% 2 2 1

F 21.70% 3 2 3

3 aIftionT & ©% 61 A-F 8 O10f0 BRI &1 58-I &1 (i) W= (%) faawor 3R (ii) 57 941 75 R 8§ dF
TS P, Q 3R R &1 Si0Td a1 T4 § | 4 We J &l 5 BRI &1 Sel Sl 90,000 § | AT &
HHS P YR IR Y B IR aliord |

T[S T3 @RI @I &G (o) ?ﬁwqiﬁﬁ 1R

7

14.30%
16.20%
18.40%
16.80%
12.60%
21.70%

B || A | | b [ =

HE[o ol =

b | b |f ||l |
hfe=fra] &= 2] =

)

Number of cars sold in City F 1= approximately % more than the number of cars sold in City B

13

34
3::21
4.27.5

(1) 1

(2) 2

(3) 3

4) 4

e} F ¥ 99! SRI o1 Te e B ¥ a1t 718 $RI i TRea I @ fdd= wi=id (%) e 8 2

13

34
3.21
4.275

1) 1

(2) 2

(3) 3

(4) 4

e

Fo

1[Option ID=13213]
2[Option ID=13214]
3[Option ID=13215]
4[Option ID=13216]
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The following table shows (1) the percentage (%) distribution of number of Maruti Cars sold in six cities A-F
and (ii) the proportion of three models P, Q and R among those cars sold. Total number of Maruti Cars sold in
these cities is 90,000. Based on the data in the table, answer the question :

City-wise Distribution of Sold Cars

Cire 4 Distribution of| Proportion of Car Models Sold

i Sold Cars P Q R

A 14.30% T 7 4

B 16.20% 2 5 2

C 18.40% 3 3 4

D 16.80% 4 3 2

E 12.60% 2 2 1

F 21.70% 3 2 3

3 aIftionT & ©% 61 A-F 8 O10f0 BRI &1 58-I &1 (i) W= (%) faawor 3R (ii) 57 941 75 R 8§ dF
TS P, Q 3R R &1 Si0Td a1 T4 § | 4 We J &l 5 BRI &1 Sel Sl 90,000 § | AT &
HHS P YR IR Y B IR aliord |

T[S T3 @RI @I &G (o) e Y H{Sl I S
P Q R
A [1430% 7 7 n
B [1620% 2 5 B
C |1840% 3 3 n
D [16.80% 1 3 B
E  [12.60% 2 3 1
F  |21.70% 3 2 5

What iz the ratio of the number of cars sold in City C to the number of Model-Q) cars sold in City D?

19:5
27:8
237
.33:10
(1) 1
@) 2
3) 3
(4) 4

TeR ¢ H 991 715 PRI 1 WA 3R WER D § Aisd Q Bl (991 HRI &1 A1 & &4 &7 UM 1§ 2

19:5
278
237
.33:10
1) 1
(2) 2
(3) 3
(4) 4

hoiese

L

Fo

JIES Y]

1[Option ID=13217]
2[Option ID=13218]
3[Option ID=13219]
4[Option ID=13220]

Sl. No.106
QBID:5201006

Which of the following techniques is recommended for approaching and disciplining a student who may be
prone to explosive behaviour?

. Move swiftly and get as close to the mishehaving student as possible.
. Ensure that there are several witnesses to the confrontation.
3. Be respectful, brief but assertive.
4. Use a loud voice to establish power.
1) 1
(2) 2
(3) 3
4) 4

b =




ﬁ?ﬁﬁ;ﬁ%ﬁ%ﬂ@ﬂﬁﬁﬁéﬂﬁuaﬁaﬁw@m@mmﬁaﬁmﬁaﬁﬁﬁmmaﬁm
DI G 2

1. TP Y SIgeR 3 ardl faenedf & 7ur ¥ug e g1 ol |
2. T8 GG B & Free1 811 & 99d 3 el & |

3. YA, &Y § W] Tedrgd® a1d P |

4. ad YT HA & T8 St 3191 &1 9 2 |

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=13221]
2[Option ID=13222]

3[Option ID=13223]
4[Option ID=13224]

Sl. No.107
QBID:5201007

Ishita had been practicing her multiplication tables for weeks before her yearly test. She knew all her facts
completely. This type of knowledge that Izhita now has attained does not require attention and concentration.
This process is known as which one of the following ?

1. Flashbulb memory
2. Schema
3. Automaticity
4, Procedural memory
(1) 1
(2) 2
(3) 3
(4) 4
SRraT 3ol aiffes okier © Ugd g9 9 UBTS] & 34T $R Yol Al | 98 IR aul &l O3 avg d o ot
| ST 31 S YR &1 I Ui {51 & 398 &4 S 3R biad $3- &I Aawhdhdl el eidl ¢ | 59
Yihar ! FE T 3 g SU E AET S g 2

1. BiY-ged Hid
2. THHT
3. TRl

4. yisparers wfd
1) 1
(2) 2
3) 3
(4) 4

1[Option ID=13225]
2[Option ID=13226]
3[Option ID=13227]
4[Option ID=13228]

Sl. No.108
QBID:5201008

Match List I with List IT :

LIST I (MOOCs Four Quadrant LIST II (Component)
approach)
A |Quadrant - [ L e-content
B.  |Quadrant - IT I |Self-assessment
C. |Quadrant - ITI III.  |e-tutorial
D |Quadrant - IV IV.  |Web Resources

Choose the correct answer from the options given below :

. A-TIL B-IV, C-I, D-II
. A-IV, B-I, C-III, D-II
. A-IL, B-I, C-IV, D-II
. A-IV, B-II, C-III, D-I
1)1
(2) 2
3) 3
(4) 4

(S

JIES PV




il 191 gl 11 ¥ [ Sifere

aﬁh 1 (H@ & 91 UTS STHTH) el 11 (UCH)
UG 1 L [g-3idds

B. [UGm I [&G-Hdidd

C. [ggIm L [3-=geihad

D. [gE1v V. |49 G

fafeiad fameal & 9 98l IR &l 9 S -
1. A-III, B-IV, C-I, D-II
2. A-TV, B-I, C-IIL, D-II

3. AJIL B-L, C-IV, D-II
4. ATV, B-II, C-III, D-1

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=13229]

2[Option ID=13230]

3[Option ID=13231]
4[Option ID=13232]

Sl. No.109
QBID:5201009

Match List I with List IT

LIST I (Behavioural Models) [LIST II (Developers / Redevelopers)
A [Mastery learning I |Carl Smith/Mary Smith
B Grrnisee I Benjamin Bloom/James
Black
C.  |Social learning III.  [BE. Skinner
D Programmed sc_hedule (task v |Albert Bandura'Carl
performance reinforcement) * |ThoresenWes Becker

Choose the correct answer from the options given below:

1. A-IV, B-I, C-II, D-III
2. A, B-I, C-IV, D-III
3. AL B-IV, C-1, D-III
4. A-IV, B-1, C-III, D-II

1) 1

(2) 2

3) 3

“ a

el 191 gl 11 1 T Sifore
T 1 (TTERTES A18eH) '{zﬁmﬁarraﬁrfgﬂﬁﬁmﬁ
A |udiorr sfee [Te Ry E Y
B. |3Euum I [FeleH sH S S
C. |G sifee I [6 Uh. R

D | RS ST @/ | [ (SR SqU/ETd URE/aE
B G R S AR B GER

FFafoRad famegl & I Ug! 3R &1 90 BT

1. A-IV, B-I, C-II, D-III
2. A1, B-I, C-IV, D-III
3. A-IL, B-IV, C-1, D-III
4. A-IV, B-1, C-II, D-II

(11

(2 2

3) 3

(4) 4

1[Option ID=13233]

2[Option ID=13234]

3[Option ID=13235]
4[Option ID=13236]

Sl. No.110
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Given below are two statements :

Statement I : Sensory memory is that memory which helps an individual to recall something immediately
after having perceived it.

Statement IT : Semantic memory is that memory which helps in storing as well as retrieving a collection of
relationships between events or association of ideas.

In the light of the above statements, choose the most appropriate answer from the options given below :

. Both Statement I and Statement II are correct.

. Both Statement I and Statement IT are incorrect.
3. Statement I is correct but Statement I is incorrect.
4. Statement I 1s incorrect but Statement I is correct.

(1) 1

(2) 2

(3) 3

(4) 4

k=

TY9 1. TG TG 9% TG & S 5 Ot B A A 3Wa & dohiel 3H G TR0 S & Jeradl
A T

Fua 11 ¥Y & wia o5 wafd § S oo wgar Reant & wag & &9 & a9yl & Hue & HSHoT g
QeI & HEIAT ARl ©

SR DU P Helled 3, A G0 77 fhedl 5 T Hadl SUGD IR T T hITaiv:

1. 7= 137 nE= a8 &

| ]

I 13 nEEt e €
3. %Y 199 & afea oud o &

4, U= 19760 &, ATh=T BT [ TE &I
(1) 1
(2) 2
(3) 3
4) 4
1[Option ID=13237]
2[Option ID=13238]

3[Option ID=13239]
4[Option ID=13240]

Sl. No.111
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Given below are two statements :

Statement I : If we accept a hypothesis when it should be rejected, we say type [ error has been made.
Statement IT : If we reject a hypothesis when it should be accepted, we say type II error has been made.
In the light of the above statements, choose the most appropriate answer from the options given below ;

1. Both Statement I and Statement I are true.
2. Both Statement I and Statement II are false.
3. Statement I is true but Statement II 1s false.
4. Statement I 1s false but Statement IT 1s true.

1) 1
(2) 2
3) 3
(4) 4




FYT - T & T ¥ UTadheus o TR BYd § oW 3Edigg fher ST aifeT g9 '/ O% A 9ad
€ fop sudt arsu 1 3 o= &

FYT 11: 77 &1 v I ueeu= &7 3TAER wRa & oais 5§ TeR B smer @iy, g9 = 9w A=
god € 5 ot Tsw I g T mh €

SWIh @YU P elleh H, A fGw oW fehetl & §HIH UG ATl =99 HIfAw:

1. %y 13k 124 e €

(o8]

o 13k neEt sme €

3. U 19T &, ofta waa 113/@0T §)

4. U 130T &, dfheT Y= T acy &I
(1) 1
() 2
(3) 3
(4) 4
1[Option ID=13241]
2[Option ID=13242]

3[Option ID=13243]
4[Option ID=13244]

Sl. No.112
QBID:5201012

Which of the following softwares are used for checking plagiarism?

Turnitin
e-view
Scopus
Urkund
Quetext

mO 0wy

Choose the most appropriate answer from the options given below :

1. A Band D only
2.B. Cand E only
3.A,Dand E only
4. C.D and E only

11

@) 2

3) 3

4) 4

giiefde TRl @1 wig T4 & fau 9 5 9 {559 araedgRi &1 wai féar oar g 2

A TR
B. 50
C. WUy

D. RFS
E. Bcqe

i f3u U fapedl & ¥ Jad SugE SR BT 997 BIo:

1[Option ID=13245]
2[Option ID=13246]
3[Option ID=13247]
4[Option ID=13248]
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Which of the following methods are used to measure reliability in research?

Chain-referral sampling
Test-retest

Split-half

Inter-rater

Judgemental test

mOnwrE

Choose the correct answer from the options given below :

1. A, B and C only
2.A.Dand C only
3.B. Cand D only
4. C,D and E only

1 1

) 2

(3) 3

(4) 4

ey H 2g-igan &1 719 & fore e # 9 feoe1 fafat &1 it fopan S e 2

A ggar gaiid wia=sae
B. Wi9-G: Wi F

c. fayaarg

D. diafFuRe EeRex)
E. g 010 o=

=1 feu e fasedl o 9 9el 3Tk &1 98 ol

1.$ad A, B, C
2. Pad A, D, C
3.%ddAB, C.D
4. $90C,D,E

) 1

(2) 2

(3) 3

(4) 4

1[Option ID=13249]

2[Option ID=13250]

3[Option ID=13251]
4[Option ID=13252]

Sl. No.114
QBID:5201014

Given below are two statements :

Statement I : t-tests arc appropriate only when the dependent variables being measured are continuous.
Statement IT : Chi-square statistic allows us to test hypotheses using both continuous and ordinal data.
In the light of the above statements, choose the most appropriate answer from the options given below ;

1. Both Statement I and Statement IT are true.
2. Both Statement I and Statement I are false.
3. Statement I is true but Statement II is false,
4. Statement I is false but Statement I is true.

(1) 1

(2) 2

3) 3

(4) 4




Hasrfume:
FYA : t-% PHad a4l IUY gId § oid JNud T R Jad of |

EEﬂ?éII:WWH@Eﬁﬁ HAd AR PHYID MBS &1 DT TAN B AaHeI B ofid PR
adle |

IRIF FYH & AP 1, A1d 20 70 faHedi O U ol SR $1 940 P I
1. Y1 AR 11 S Ga gl
2. FYA 1 AR 1A ST ¢

3. PYT 1 A 8, A PUT 11 3T B

4. DY ITA B, AP YT I T B
1) 1
@ 2
(3) 3
(4) 4
1[Option ID=13253]
2[Option ID=13254]

3[Option ID=13255]
4[Option ID=13256]

Sl. No.115
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Given below are two statements :

Statement I : UGC-CARE list includes all the scopus, web of science, and MLA indexed journals.
Statement IT : Open Access Journals are predatory journals.

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement II are false.
3. Statement I 1s true but Statement II 1s false.
4, Statement I is false but Statement II is true.

(1) 1

(2) 2

(3) 3

4) 4

i & PeA fRu MY §:
FU I : ToiI-TTUaRE gt & et Whivy, 39 3t A5 SR THe YHies oHa Ma sn g |
FYT 11 : Gad AH ST ge o-a e ¢ |
SIRITd Y & e 7, 12 U v fadedl § @ |l 5o &1 <o & e
1L FFAISNRIGH AT |
2. FUTI ARG AT |
3. DY 1A &, Wip HYF I A B

4. DY ITA B, AP YT LTI B
1 1
) 2
@3) 3
(4) 4
1[Option ID=13257]
2[Option ID=13258]

3[Option ID=13259]
4[Option ID=13260]

Sl. No.116
QBID:5201016




The people's preconceptions and frames of reference, and spreading one's own limited attitudes towards issues
and images result in:

1. Stable identity
2. Social harmony
3. Positive public opinion
4. Stercotypes
(1) 1
(2) 2
3) 3
4) 4

AR 1 qayRonS, T5H & RRI R gal d Biadi & uid 3 9 Tt siftgirl & TR o1
frafafed o 9 @ o ghar g 2

R ugEH
. ST 9igTe

TSRS oHHd
1) 1
(2) 2
3) 3
(4) 4

B O I

1[Option ID=13261]
2[Option ID=13262]
3[Option ID=13263]
4[Option ID=13264]

Sl. No.117
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In mass communication the audience is:

1. Identifiable
2. Relatively small
3. Heterogeneous
4. Homogeneous
) 1
(2) 2
3) 3
(4) 4

o TR I gl Fefefaa S AR rsia g 2

PR
. 3UETEHd HH G=A1 1
fawmedt
gHzUl

e

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=13265]
2[Option ID=13266]

3[Option ID=13267]
4[Option ID=13268]

Sl. No.118
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The meanings of visual images depend much on:

Individual perception

Social perception

Political links

Economic benefits
Representational Connections.

mOnwps

Choose the correct answer from the options given below:

A, Band C only
.B. Cand D only
3.C.D and E only
4. A, B and E only

b =




1) 1
(2) 2
(3) 3
(4) 4

Ty fia & o A F S A mamwl Rk a=d g 2

A. JufGas 9y
B. IHIo® 919
C. oA 9ud (fdw)
D. 3filep wgfdemy
E. mifaffie ey
=i fSU T fa el O 9 9el TR 31 98- I

1.$GAA, B, C

1[Option ID=13269]
2[Option ID=13270]
3[Option ID=13271]
4[Option ID=13272]

Sl. No.119
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Given below are two statements :

Statement I : The right to communicate can prompt the emergence of negative liberty though its positive
impact cannot be overlooked.

Statement IT : The hidden impact of free market place has diluted the concept of free speech to suit the
corporate ends.

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement II are false.
3. Statement I is true but Statement II is false,
4. Statement I 1s false but Statement II 1s true.

1) 1
(2) 2
(3) 3
(4) 4

e @ Py fag Mg @

FHUF 1 - GO0 BT AIHR TSRS WdFdl & 380 &1 URd T IJ&dl ¢ T4 595 ISRIAD UHd &I
T TRl fPm ST IHar e |

PYF 11 : o SR R &b USH FHIG 3 DRURE U&dl & 3FY a1 Wid=g DI SR DI gD DR
e |
JURIG DY o el 0, i< (4T MU [dpedl T oI5l 3 &1 94 Hifolt:

1. BYT1 AR 11 S Gd g

CHYA AR I EH 3T |

PYT I I, AP PUT I TA R |
PUT I ATI S, AT PUT I TS |
) 1

(2) 2

(3) 3

(4) 4

ES PV O]

1[Option ID=13273]
2[Option ID=13274]




3[Option ID=13275]
4[Option ID=13276]

Sl. No.120
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Given below are two statements :

Statement I : The capacity of words need not have any connection with truth.,

Statement IT : There is a human tendency to conceal facts and suppress the truth while communicating.
In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are correct.
2. Both Statement I and Statement IT are incorrect.
3. Statement I is correct but Statement II is incorrect.
4, Statement I is incorrect but Statement IT is correct,
(1) 1
@) 2
3) 3
(4) 4

= & FYF T T §: U SHUSYT (Assertion A) T F9 1 ARG © o TIR1 395 PRUT (Reason R) B
TOT:

SUHYT A« Uea] D1 4T T G $ 1Y His Y89 &1 00T el ¢ |
FRUTR : AU B T T2l &l B9 3R 9@ $I @ TG HaRl § |
SR DY & 3Teliep H, i f3U Y faspeui § U a8 3uged IR &1 90 Bifol |

LAIRREA TSI € IR R, AT el AR © |

A SRR EH TSI 8, AP R, AT Gt TR ET © |
3 ATSI e AR IEI Tl | |
4 AR TSI g APARTRI G |

1 1

2) 2

3) 3

(4) 4

[ SR

1[Option ID=13277]
2[Option ID=13278]
3[Option ID=13279]
4[Option ID=13280]

Sl. No.121
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Find out the third common term between the two given Arithmetic Progression (AP) series given as .
377, 11,053 and 1, 6, 11, 16,

.31
.43
3.51
4. 47
1) 1
(2) 2
(3) 3
(4) 4
fFmiferd & =0 o &l <1 it gaR il (udh & He R E U & 9id Biferg
3 T M S
3R

1,6,11,16 .........

[

.31
.43
3.51
4, 47
1) 1
() 2
(3) 3
(4) 4

[

1[Option ID=13281]




2[Option ID=13282]
3[Option ID=13283]
4[Option ID=13284]

Sl. No.122
QBID:5201022

A person can do a piece of work in 18 days. After working for 12 days, the person leaves and another person
joins and completes the remaining work in 8 days. In how many days this 2nd person can complete the whole

job?

.20
. 24
22

18

b2 =

e o

1) 1
() 2

(3) 3

(4) 4

e dfad e &g @1 18 AT H ax U@l § | 12 f&AT 9% &1l $3- & uyid a8 oafdd &1 &1 8is Sdl g
SR GIRT AT BRI B HAT URY BT § a9 Y H1 &1 8 a7l H QI ax Al ¢ | T8 ¥ Al 38 X
?ﬂﬂﬁmﬁﬁ‘rﬂﬁqﬂwwé?

20
24
22

18

i i

1) 1
) 2
3) 3
(4) 4
1[Option ID=13285]
2[Option ID=13286]

3[Option ID=13287]
4[Option ID=13288]

Sl. No.123
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The average salary of 25 workers in an office is Rs. 6,000 per month. If the salary of the manager is added, the
average becomes Rs. 6,200. What is the annual salary of the manager?

1. 73.200
2.1,34,400
3.1,58,600
4.1,03,200

) 1

(2) 2

3) 3

(4) 4

fepelt sratery & @ik 25 w4t &1 Sird a7 6000 9 UFawTS 8 | aft S vey® @1 a7 i s
fear SiraT € a1 U8 37 6200 94 §1 SIAT § | 989® &1 alfies 9d- [ba g 2

73,200
1.34,400
1,58,600
1.03.200

L

L

(1) 1
) 2
3) 3
(4) 4
1[Option ID=13289]
2[Option ID=13290]

3[Option ID=13291]
4[Option ID=13292]

Sl. No.124
QBID:5201024

In what time a sum of money will double itself at the rate of 8% per annum simple interest?

1. 10.5 years
2.12.5 years
3. 9.5 years

4.11.5 years




g U IR 8% Hfdas HYRU &S D1 &R © e 909 & 1 & ogt 2

1[Option ID=13293]
2[Option ID=13294]
3[Option ID=13295]
4[Option ID=13296]

Sl. No.125
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A shopkeeper sold two articles at Rs. 12,000 each. He sold one article at a profit of 20% and the other one at a
loss of 20%. What is the net gain or loss to the shop keeper?

1. Aloss of Rs. 1000
2. A gain of Rs, 1000
3. Aloss of Rs. 3,000
4. Aloss of Rs. 1,500

(1) 1

(2) 2

(3) 3

(4) 4

Tl gMeR- gl aegsll § 9 Ud® I 12,000 YT H &1 | GH UD T DI 20% P o1H W &1 U4 G831
TE] Pl 20% 1 I W &1 | GHHEAR Bl el o1 T 81 fha-l g 2

1. 1000 39U B 81
2. 1000 39T HT ATH
. 3000 ¥9Y B g1H
. 1500 YU B g1H
1) 1
(2) 2
(3) 3
(4) 4

E S

1[Option ID=13297]
2[Option ID=13298]
3[Option ID=13299]
4[Option ID=13300]

Sl. No.126
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Which informal fallacy is committed in the following argument - "Scientists have been trying for centuries to
disprove the claims of astrology, and none of them has ever succeeded. Therefore, we must conclude that
astrology's claims are true" ?

1. Slippery slope
2. Hasty Generalization
3. Aurgumentum ad Ignorantian (appeal to ignorance)
4. False Cause
(1) 1
2) 2
(3) 3
4) 4




fafafad gffa & @ o1 sAeie ab-aiy & - il I e Safay & a6l @ \fsd B 10
aﬂﬁg%% 3R 3H A B1g ot Ffi 9 a A8 gan § | o B8 My MdpTa 91y i wifaw &
JaE?

1 ﬁ?ﬂﬂﬂgﬂﬁmm (CERESIE)

1[Option ID=13301]
2[Option ID=13302]
3[Option ID=13303]
4[Option ID=13304]

Sl. No.127
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Which of the following propositions can be directly inferred from the statement - "All mammals are four-

legged animals?

1. All animals are four-legged mammals.
2. No four-legged mammals are animals.
3. Some mammals are four-legged animals.
4, All four legged animals are mammals,
(1) 1
(2) 2
(3) 3
(4) 4

?Eﬁfﬂ@ﬁ OfcRITGrl B 3 (o] 58 HUH 9 Yaerd: S (681 ol 9ol § - 9 T-aR] 9w ugg

1. oft Uy S AR E |
2. B +ff T TR R R
3. 79 WAYR G Y | |
4.mﬂa’1trmm%ﬁ:fw%|
) 1
(2) 2
(3) 3
(4) 4

1[Option ID=13305]
2[Option ID=13306]
3[Option ID=13307]
4[Option ID=13308]

Sl. No.128
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Which of the following statements is contrapositive to the following statement - "Some dogs are not

aggressive animals"?

1. Some aggressive animals are not dogs.
2. Some dogs are aggressive animals.
3. Some non-dogs are aggressive animals.
4. Some non-aggressive animals are not non-dogs.
(1) 1
) 2
(3) 3
(4) 4

Al oy o 9 11 91 FEfaied $UF & 9iauikalid © - $© S SM™e 93 T8l o' 2

1. S SAIBTHD U Pl 61 ¢ |

2. TS T SMhIHD U |

3. P8 IR-Tdl SATHESD U ¢ |

4. IS TR-MHHS I IR-F ST & |
@ 1
(2) 2
(3) 3




4) 4

1[Option ID=13309]
2[Option ID=13310]
3[Option ID=13311]
4[Option ID=13312]

Sl. No.129
QBID:5201029
»

Which of the following statements are contradictory to each other?

A. All objects are perishable,

B. Some objects are not perishable.
C. Some objects are perishable.

D. No objects are perishable.

Choose the most appropriate answer from the options given below:

1. Aand D only
2.B and D only
3. Cand D only
4, A and C only

1 1

(2) 2

3) 3

(4) 4

G d T o 9 YT RER AUdi g 2

A TR TGETRE |
B. $T GRJI TR LIS |

C. T8 a0 IR T |
D. 3TS W axg RS ¢ |

i feu T fomedl § O Ua IUdad IaR &1 994 HIfT:

1. Had A IR D
2. HadA B AR D
3.%aac ARD
4. FPaAARC

1) 1

) 2

3) 3

@) a

1[Option ID=13313]
2[Option ID=13314]
3[Option ID=13315]
4[Option ID=13316]

Sl. No.130
QBID:5201030

To find my way about in a village I ask a resident for guidance. Which of the following instruments of
knowledge is used according to classical Indian school of Logic (Nyaya)

1. Perception (Pratyaksa)
2. Similarity (Upmana)
3. Inference (Anumana)
4. Verbal Testimony (sabda)
11
@) 2
3) 3
(4) 4

U 9§ 39 AP &1 I & e 14 TRk gq U dHaril 3 OF ST | 6 YR 41 0d &
SR FEfEd O € 99 & (59 918 &1 WaeT a1 1§ 2

. Uc&d
JUHM

STTHM
e

B

) 1
) 2




3) 3
(4) 4

1[Option ID=13317]
2[Option ID=13318]
3[Option ID=13319]
4[Option ID=13320]

Sl. No.131
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Which of the following applications A-C are built on top of open-source digital platforms?

A. Google Earth
B. DIKSHA
C. MySQL

Choose the correct answer from the options given below.

1. Aand B only
2. Aand C only
3.B and C only
4. A BandC

1) 1

(2) 2

(3) 3

4) 4

%gﬁmmﬁ@a&ﬁm(mﬁ@ﬁ%@ﬁ%ﬁmﬁmﬁ$ﬁwﬁﬁﬁ

A TFTE 31 (Google Earth)
B. l&fl (DIKSHA)
C. TT% THEIUd (MySQL)

=g feu u fdoedl § O Ugl 3R &1 90 Bl

1[Option ID=13321]
2[Option ID=13322]
3[Option ID=13323]
4[Option ID=13324]

Sl. No.132
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Which of the following statements (A-C) are correct with reference to Web 3.0?

A. Web 3.0 technology (theoretically) puts user data and web content into user's hands.
B. Centralization is a core tenet of Web 3.0
C. In Web 3.0 world, block-chain based networks, transactions and businesses will thrive in the coming

years,
Choose the correct answer from the options given below :

1. Aand B only
2. Aand Conly
3.B and C only
4. A.Band C

(1) 1

(2) 2

3) 3

(4) 4




99 3.0 & dad & Fefafed sy (a-) T4 PH A T8l g 2
A. 99 3.0 URNAS! (Fagida:) Wil S1e1 Ud de [auuasq & Wiadl &I Suds SRl ¢ |

B. FHIBRUI 39 3.0 FT O G g |
C. 99 3.0 97T ST ANl H sdilep o W 31eIRd Acad & IHasR SR oIadd Bal-mai |

- fag e fawedt & 9 3! SR @1 99 DI

1. Had A 3R B
2. HAA A IR C
3. PIAB AR C
4.A,B3RC

1

() 2

3 3

(@) 4

1[Option ID=13325]
2[Option ID=13326]
3[Option ID=13327]
4[Option ID=13328]

Sl. No.133
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Given below are two statements :

Statement I : The inventor of WWW is Bill Gates.

Statement II : IPv6 protocol defines an IP address of 128 bits.

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement II are true.

2. Both Statement I and Statement II are false.
3. Statement I is true but Statement II is false,
4. Statement I 1s false but Statement IT 1s true.

1)1
(2) 2
(3) 3
(4) 4

EIECIER TR
FY 1 : 3o S S (WWW) & T HRS fad ea g |
PYF 11 : 3fMSUIdl6 (1Pve) TEoTd 120 fae & MeUl U9 &1 RN FRaTg |
QRIS DY & 3fTeiis 1, F1d U 710 faeedil § 3 el SR &1 997 BIe:
1. @Y 1 AR 11 &H I B
2. BUYF T AR ST A G
3. PYT 1A ©, Wb HYT 11 A B |

4. DY ITA 8, AP FUT I T B
(1) 1
@ 2
(3) 3
(4) 4
1[Option ID=13329]
2[Option ID=13330]

3[Option ID=13331]
4[Option ID=13332]

Sl. No.134
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Consider the following Excel spreadshect :

A B C D E F
1 3 5 1 2
2 2 3 5 2
3 4 9 7 2

What is the value of the formula = SUMIF(B1:B3. "=" & 3, C1:C3)

W
o -1 Lh Lo

(1) 1
() 2
(3) 3
(4) 4

fafaad T Sisie | fdar Fif -

A B C D E F
1 3 5 1 2
2 2 3 5 2
3 4 5 7 2

YA : =SUMIF(B1:B3, ">" & 3, C1:C3) @I II'I:TETTIT% ?

B e
oo —1 Ln Lo

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=13333]
2[Option ID=13334]

3[Option ID=13335]
4[Option ID=13336]
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Given below are two statements :

Statement I : SWAYAM is a platform developed by Ministry of Education and AICTE to bridge the digital
divide among students.

Statement IT : UGC is a National coordinator of SWAYAM for non-technical Post Graduation education to
ensure that best quality content is produced and delivered.

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement II are false.
3. Statement I is true but Statement II is false.
4. Statement I is false but Statement IT is true.

(1) 1

@) 2

3) 3

(4) 4




e @ wyF fag Mg @

DU [ : TOH (SWAYAM) BT & Aed {Sfed srmmal @1 91 &1 ulen & forg Rren darem iR
TATRIETS (SIHITRM) GR35 id Us Wewm § |

BYA 11 : YOIl TR-be110| HIdepIaR [R1fl & [RTY WaH (SWAYAM) P18 IH-a9% ¢ o gHiEa
1 Wb o wyatoy T[uraargul favaeg &1 Fafor Sk weml @1 & |

IRIGd HYT & ATe® 1, 319 50 70 e § 3 96 SR &1 99+ o ifeig:
1. PYT 1 3R 11 S T B
2. B 1 AR I ST A |

3. PYT 1 T B, Ao PUT 11 3T © |

4. PYT IS, AT FU I T ® |
1
(2) 2
(3) 3
4) 4
1[Option ID=13337]
2[Option ID=13338]

3[Option ID=13339]
4[Option ID=13340]
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Arrange the following Earth's water compartments in increasing order of the amount of the water they hold.

A. Rivers and streams
B. Fresh lakes

C. Atmosphere

D. Ice and Snow

Choose the correct answer from the following options given below :

1.A,C,B,D
2

b ele
Josie=Ree
or
ngog

L2

1) 1
(2) 2
(3) 3
(4) 4

gl & e SUEUS| Bl 319 GRIT YR Sie HE1 S §¢d pH H oUdieyd HIU |

A, Afeyf 3R od-4RY
B.H@T_aﬁa{’rsﬂﬁ
c.
D;E\ﬁ?%ﬂ
= f3U U fowedl § ¥ Igl SR &1 994 Bifoig:
A.C.B.D

1
2.C,A,B,D
B.A.D
B.D,C

JIES, PV

JG,
A,
(1) 1
) 2
(3) 3
(4) 4
1[Option ID=13341]
2[Option ID=13342]

3[Option ID=13343]
4[Option ID=13344]
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Given below are two statements :

Statement : I Municipal solid waste includes Garbage and Rubbish.

Statement IT : Garbage consists of both combustible and non combustible materials,

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement II are true.
2. Both Statement [ and Statement II are false.
3. Statement I is true but Statement II 1s false.
4, Statement [ is false but Statement IT is true.

1 1

(2) 2

(3) 3

(4) 4

TR APy RS
B [ : TRUINDT & 3 IR T Ho-aRPe (M) HR DI3-Pars I FEea g |
BYT11: PS-GRBE 1 saeRia R e a1 Gl Sefid gid g |
SIS HYA & 3fTdiie 1, 19 [3U Y fasbedl & T Tgt STk &1 997 SifIE:
1. HYFTI AR I EH 93 |
DY T SR GHI SEA R |

3. YT I TU L, AT YT 1 3T ¢ |

[ ]

4. U ITA L, AT FYH I I E |
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=13345]
2[Option ID=13346]

3[Option ID=13347]
4[Option ID=13348]
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Given below are two statements :

Statement : I In many cases, both organisms and human infrastructure will not be able to move or adapt
quickly enough to changing climate,

Statement IT : Infectious diseases are likely to inerease as a result of global warming.
In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement IT are true.
2. Both Statement I and Statement II are false.
3. Statement I 1s true but Statement II 1s false.
4, Statement I is false but Statement II is true.

(1) 1

(2) 2

3) 3

(4) 4




EIECICR T

BYUA T : 3D HHEl H oild SR WG SHGTRFAN GIH1 gaad! oiaarg o Uid =it Sae- a1 sigoa- §
e el gl |

BY 11 : TG T (3% arg) & uRomRas Y dems AT H g &1 Juai© |

IIRIGd BUA & el T, 9 3 Y faeedl § 9 98l 3T &1 95 i

LB AR EH AT |

2. BUYAT ARG ST T |

3. YT I E, AP PUT I AR |

4. PYT IS, AP P I TR |
1) 1
@) 2
(3) 3
(4) 4
1[Option ID=13349]
2[Option ID=13350]

3[Option ID=13351]
4[Option ID=13352]
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Major contributor to carbon monoxide emissions in metropolitan areas of India is/are:

. Industrial Sector

. Domestic Sources
. Transport Sector

. Agriculture Sector

R O R

(1) 1
() 2
(3) 3
(4) 4

URA & HEARIY &3 § Pa- T Ha5s S&e 4 UE RaH [BHel g 2

1[Option ID=13353]
2[Option ID=13354]
3[Option ID=13355]
4[Option ID=13356]
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Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R.

hydrogen powered combustion engines probably are not the future of hydrogen fuelled vehicles.
Reason R : It is more efficient to convert hydrogen energy directly to electricity using fuel cells.
In the light of the above statements, choose the correct answer from the options given below :

1. Both A and R are true and R is the correct explanation of A.
2. Both A and R are true but R is not the correct explanation of A.
3. Ais true but R is false.
4. A 1s false but R is true.

1) 1
) 2
(3) 3

Assertion A : Although internal-combustion engines used in today's vehicles can be adapted to burn hydrogen,




4) 4
= & YA T U §: U SHUHYT (Assertion A) & F9 8 [AR@d 8 ol GIR1 39d HRUI (Reason R) &
R REE

DY A - T SHTOTRT P ATeH1 B VYK H<IRD-2e S0 Bl SIZS IS &8 3 (ol g fear
ST OHdl 6, BT5g o G-I Ge- 5ol GHAT: Isgo s¢- ale-l &l Y el & |

PRUR : A U BT ITIN B GU BI5GIoH SHoll i Ule f[dggd § SUiaror &1 3iiU® & ¢ |
IRIF FUF o ATAF 1, AId S0 U [@edl H U ol 3R &1 98- ST |

1. A3RREA TUE IR R, AP TG TSR |
2. AMRREA IIE, AT R, AP TET BT TR § |
3ATURAPAR 3T R |
4. AT APTR IR |
1
@) 2
@) 3
(4) 4
1[Option ID=13357]
2[Option ID=13358]

3[Option ID=13359]
4[Option ID=13360]
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While planning for higher education development in India in the twenty first century, the guiding principles
should be :

. Access

. Empathy

. Equity

. Accountability
. Quality

mdowe

Choose the correct answer from the options given below :

A.BandE only
B.C.Dand E only
A.C.,DandE only
B. C, and D only

1.
2;
3
4.
1)1
(2) 2

3) 3
(4) 4

a3 gl Ual 8 YRd § 9= fen & faerg & fFaem & gag arfeeff feiql J fFufafad s= =
A, 3Ty

E. TG

1[Option ID=13361]
2[Option ID=13362]
3[Option ID=13363]
4[Option ID=13364]
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Which of the following ancient systems is focussed on laws of matter and force and of combination and
disintegration?

1. Vaisesika

2. Nirukta

3. Chhanda

4. Grihya Sutras
(1) 1

(2) 2

(3) 3

(4) 4

fFgfafaa & ¥ o9 T urdF gsia uerd 3R a9 9ur 9aieH ve f9geH & Fomi m et g 2
1. RIS
RERTS}

L bkJ

ST
4. 76

1) 1

(2) 2

3) 3

(4) 4

1[Option ID=13365]
2[Option ID=13366]

3[Option ID=13367]
4[Option ID=13368]
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According to NEP 2020, what percentage of learners of schools and higher education system shall have
exposure to vocational education by 2025.

. 40% of learners
. 50% of learners
35% learners
30% learners

=

da L

(1) 1
) 2
(3) 3
(4) 4

TART 2020 F SR, Wpal 3R I Il USld & Siidmmedisi 1 a1 Aia=rd ay 2025 dP
AR FRI&T | 24fi g 2

. JfferTHE A3 BT 40%
. TSl BT 50%
. TS A3 BT 35%
. AferTHEatsl 71 30%
1
) 2
@3) 3
@) 4

B O I

1[Option ID=13369]
2[Option ID=13370]
3[Option ID=13371]
4[Option ID=13372]
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Which of the following are the characteristics of non-conventional learning ?

A. No fixed curriculum

B. Teacher-centred learning
C. Cost-effective

D. Require regular attendance

Choose the correct answer from the options given below:

1. Aand D only
2. Aand C only
3.B and C only
4. B and D only




1) 1
(2) 2
(3) 3
(4) 4

e & 9 IR-IRURS ifers &t fa¥mard sH € 2
A 1 (YT ureT=a T8t

B. Rigid-ofad sifam

C. ANTG-UId!

D afEd SuRld &1 SHiazgs BHl

A=t fGu o Taeredl & & WL A @l gh ehiforg:

1. Had A IR D
2. FadAARC
3. %adAB AR C
4. HAAB IR D

1

) 2

3) 3

(4) 4

1[Option ID=13373]

2[Option ID=13374]

3[Option ID=13375]
4[Option ID=13376]
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The Sanskrit-Sahitya parishat whose aim and objectives are to disseminate Sanskrit learning and research in
different branches of indological studies and to store and maintain the ancient Indian cultural and glories of

India was established in the year :

1. 1906
2.1916
3. 1964
4.1961
1) 1
(2) 2
(3) 3
(4) 4

P d-HIe-aRYE [T 3539 I5d SO &1 YR IR URd [der daef sremme o fafie wmarsi
H HY YUl U YR Fipiae SR YR & T1Ra &1 990 qul SR T, 3961 70T 59 ad

RIS

. 1906
. 1916
. 1964
. 1961
(1) 1
) 2
(3) 3
(4) 4

[ SR

S 51

1[Option ID=13377]
2[Option ID=13378]
3[Option ID=13379]
4[Option ID=13380]
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Read the following passage and answer the question :

What is it that tutors do, or should do, in support of the online learner ? Some have sought to explore and
clarify by the adoption of particular metaphors, such as moderator, mentor, or facilitator, to describe the tutor's
role. These terms have their value in guiding our behaviour as online tutors, but their force is primarily to warn
us to stand aside. The evidence is that too much or inappropriate, contribution to tutorial discussion by the
tutor can inhibit contributions by the students. The rhetoric of facilitator and moderator speaks of a duty to
liberate the students, and empower them to participate in their own learning. This has the ring of critical
pedagogy about it, which would seek to remove the authority of the teacher, casting teacher and learner as
equal participants in the educational endeavour. Such protestations of equality will ultimately show themselves
to being disingenuous, however, when the imperative of assessment rears its ugly head. Worse, though is the
fact that these formulations guide us about what we shouldn't do, but remain rather silent about what we
should be doing. If the online tutor is going to move from centre stage and sacrifice some ideas of his or her
sagacity, what sorts of roles might be taken up to contribute to the guidance of the online learner ? There are
paradoxes here.

Fafefad e of ufed iR Uy &1 3| 2T |

HFare &l &1 SeTadr = & (AU SYer T PR & SHUdl 35 &1 HA] AT 2 TS AFll 3 e
D1 Y1 &1 JUF F=A & AT aRi-ams, FHIE (HeR) Sral HEdl ol S0 (a9 U] R gad]
BHE SR 8 WY B & JON 60 | 30 cgex & 9 H 8HR IaeR & AFiaR § 5 Ual @l
3T el § IR WIUfHE 39 # 371 90 56 U X% @S 51- &I adia-l qal g | SH sy Haea s f
e GRI RIe@ 1 (eeifNad) 7di ¥ Sfdd udl Sugad GFeH S & JHgH S aldd &R addl
T | gl SR URFAHS 1 TsalSeR BT &1 Jad B & Heod 3R 38 3 AT s & Y
T & OTU eI 3 31 S0 PRAT © | S99 [0 g d (e IRd 3t 9 ol 8 ol R & mieR
Bl gerR Ui var § e SR Rrenf &1 wom ufqur’ &9 3t ad sear g | Ui SHEa & o
T T P PUCt Hafid B e Yedied B SaHang s e RR a1 | i s
T3 10 I8 © 19 U 2 8URT U8 AF1ERA dl 334 © 16 84 &1 78] &1 91y W 59 Jay H 0= ¢ &
B BT FIe | TG e cdel d-519 Hd 4 g¢ 91U 3R 39 fadexiiaal & oo [aari &1
gw&gﬁ%@ﬁaﬁ%mﬂqa?ﬁﬁummﬁi%ﬂﬁ:{ﬁ@aﬂmmmﬁﬂ%wﬁ@
YTHE E |

What has been done to describe the role of online tutors?

1. Add value to their guidance

2. Provide them with a warning system

. Clarify their duties in fields other than education
. By adoption of certain metaphors

1) 1

(2) 2

(3) 3

(4) 4

SHATEA ee™l & YfHe & auiH & fad @1 faar T g 2

1. 3% ATieRH & Geaad far o |
2. 3% FTaH! WOE TeH AT
3. 27 @ sav &4 § 399 Bdodl &l WY BT
4. BIA99 FYD]| DI AT
11
(2) 2
(3) 3
(4) 4

NN ]

1[Option ID=13381]
2[Option ID=13382]
3[Option ID=13383]
4[Option ID=13384]
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Read the following passage and answer the question :

What is it that tutors do, or should do, in support of the online learner ? Some have sought to explore and
clarify by the adoption of particular metaphors, such as moderator, mentor, or facilitator, to describe the tutor's
role. These terms have their value in guiding our behaviour as online tutors, but their force is primarily to warn
us to stand aside. The evidence is that too much or inappropriate, contribution to tutorial discussion by the
tutor can inhibit contributions by the students. The rhetoric of facilitator and moderator speaks of a duty to
liberate the students, and empower them to participate in their own learning. This has the ring of critical
pedagogy about it, which would seek to remove the authority of the teacher, casting teacher and learner as
equal participants in the educational endeavour. Such protestations of equality will ultimately show themselves
to being disingenuous, however, when the imperative of assessment rears its ugly head. Worse, though is the
fact that these formulations guide us about what we shouldn't do, but remain rather silent about what we
should be doing. If the online tutor is going to move from centre stage and sacrifice some ideas of his or her
sagacity, what sorts of roles might be taken up to contribute to the guidance of the online learner ? There are
paradoxes here.

Fafefad e of ufed iR Uy &1 3| 2T |

HFare &l &1 SeTadr = & (AU SYer T PR & SHUdl 35 &1 HA] AT 2 TS AFll 3 e
D1 Y1 &1 JUF F=A & AT aRi-ams, FHIE (HeR) Sral HEdl ol S0 (a9 U] R gad]
BHE SR 8 WY B & JON 60 | 30 cgex & 9 H 8HR IaeR & AFiaR § 5 Ual @l
3T el § IR WIUfHE 39 # 371 90 56 U X% @S 51- &I adia-l qal g | SH sy Haea s f
e GRI RIe@ 1 (eeifNad) 7di ¥ Sfdd udl Sugad GFeH S & JHgH S aldd &R addl
T | gl SR URFAHS 1 TsalSeR BT &1 Jad B & Heod 3R 38 3 AT s & Y
T & OTU eI 3 31 S0 PRAT © | S99 [0 g d (e IRd 3t 9 ol 8 ol R & mieR
Bl gerR Ui var § e SR Rrenf &1 wom ufqur’ &9 3t ad sear g | Ui SHEa & o
T T P PUCt Hafid B e Yedied B SaHang s e RR a1 | i s
T3 10 I8 © 19 U 2 8URT U8 AF1ERA dl 334 © 16 84 &1 78] &1 91y W 59 Jay H 0= ¢ &
B BT FIe | TG e cdel d-519 Hd 4 g¢ 91U 3R 39 fadexiiaal & oo [aari &1
gw&gﬁ%@ﬁaﬁ%mﬂqa?ﬁﬁummﬁi%ﬂﬁ:{ﬁ@aﬂmmmﬁﬂ%wﬁ@
YTHE E |

What will inhibit student's contribution to tutorial discussions?

1. Too much contribution of the tutor
2. Disruption during tutorials
3. Internal divisions
4. Qutside intervention
(1) 1
(2) 2
(3) 3
(4) 4

fRrereta <= o ST & TN 1 a1 ST B3 2

1. T DT (D TRTEH
2. Rt o & SR soauE
3. 3RS Be
4. §TE §%I&Y
(1) 1
(2) 2
3) 3
4) 4
1[Option ID=13385]
2[Option ID=13386]

3[Option ID=13387]
4[Option ID=13388]
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Read the following passage and answer the question :

What is it that tutors do, or should do, in support of the online learner ? Some have sought to explore and
clarify by the adoption of particular metaphors, such as moderator, mentor, or facilitator, to describe the tutor's
role. These terms have their value in guiding our behaviour as online tutors, but their force is primarily to warn
us to stand aside. The evidence is that too much or inappropriate, contribution to tutorial discussion by the
tutor can inhibit contributions by the students. The rhetoric of facilitator and moderator speaks of a duty to
liberate the students, and empower them to participate in their own learning. This has the ring of critical
pedagogy about it, which would seek to remove the authority of the teacher, casting teacher and learner as
equal participants in the educational endeavour. Such protestations of equality will ultimately show themselves
to being disingenuous, however, when the imperative of assessment rears its ugly head. Worse, though is the
fact that these formulations guide us about what we shouldn't do, but remain rather silent about what we
should be doing. If the online tutor is going to move from centre stage and sacrifice some ideas of his or her
sagacity, what sorts of roles might be taken up to contribute to the guidance of the online learner ? There are
paradoxes here.

Fafefad e of ufed iR Uy &1 3| 2T |

HFare &l &1 SeTadr = & (AU SYer T PR & SHUdl 35 &1 HA] AT 2 TS AFll 3 e
D1 Y1 &1 JUF F=A & AT aRi-ams, FHIE (HeR) Sral HEdl ol S0 (a9 U] R gad]
BHE SR 8 WY B & JON 60 | 30 cgex & 9 H 8HR IaeR & AFiaR § 5 Ual @l
3T el § IR WIUfHE 39 # 371 90 56 U X% @S 51- &I adia-l qal g | SH sy Haea s f
e GRI RIe@ 1 (eeifNad) 7di ¥ Sfdd udl Sugad GFeH S & JHgH S aldd &R addl
T | gl SR URFAHS 1 TsalSeR BT &1 Jad B & Heod 3R 38 3 AT s & Y
T & OTU eI 3 31 S0 PRAT © | S99 [0 g d (e IRd 3t 9 ol 8 ol R & mieR
Bl gerR Ui var § e SR Rrenf &1 wom ufqur’ &9 3t ad sear g | Ui SHEa & o
T T P PUCt Hafid B e Yedied B SaHang s e RR a1 | i s
T3 10 I8 © 19 U 2 8URT U8 AF1ERA dl 334 © 16 84 &1 78] &1 91y W 59 Jay H 0= ¢ &
B BT FIe | TG e cdel d-519 Hd 4 g¢ 91U 3R 39 fadexiiaal & oo [aari &1
gw&gﬁ%@ﬁaﬁ%mﬂqa?ﬁﬁummﬁi%ﬂﬁ:{ﬁ@aﬂmmmﬁﬂ%wﬁ@
YTHE E |

The rhetoric of moderators has the intention to :

1. Displace teachers from teaching
2. Liberate students for their own learning
3. Strengthen the authority of teachers
4. Avoid eritical pedagogy
1) 1
(2) 2
(3) 3
(4) 4

URFaH®! & VegISa BT UaeH Mg H S aT g 2

1. Rt 1 FReror 9 fomfod om
2. B Pl Gh U U & o0 Hord DAl
3. &Pl & WIIPR D1 Geg Pl
4. fad=rreTe fRrammea 9 g T
1) 1
) 2
@) 3
) 4

1[Option ID=13389]
2[Option ID=13390]
3[Option ID=13391]
4[Option ID=13392]
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Read the following passage and answer the question :

What is it that tutors do, or should do, in support of the online learner ? Some have sought to explore and
clarify by the adoption of particular metaphors, such as moderator, mentor, or facilitator, to describe the tutor's
role. These terms have their value in guiding our behaviour as online tutors, but their force is primarily to warn
us to stand aside. The evidence is that too much or inappropriate, contribution to tutorial discussion by the
tutor can inhibit contributions by the students. The rhetoric of facilitator and moderator speaks of a duty to
liberate the students, and empower them to participate in their own learning. This has the ring of critical
pedagogy about it, which would seek to remove the authority of the teacher, casting teacher and learner as
equal participants in the educational endeavour. Such protestations of equality will ultimately show themselves
to being disingenuous, however, when the imperative of assessment rears its ugly head. Worse, though is the
fact that these formulations guide us about what we shouldn't do, but remain rather silent about what we
should be doing. If the online tutor is going to move from centre stage and sacrifice some ideas of his or her
sagacity, what sorts of roles might be taken up to contribute to the guidance of the online learner ? There are
paradoxes here.

Fafefad e of ufed iR Uy &1 3| 2T |

HFare &l &1 SeTadr = & (AU SYer T PR & SHUdl 35 &1 HA] AT 2 TS AFll 3 e
D1 Y1 &1 JUF F=A & AT aRi-ams, FHIE (HeR) Sral HEdl ol S0 (a9 U] R gad]
BHE SR 8 WY B & JON 60 | 30 cgex & 9 H 8HR IaeR & AFiaR § 5 Ual @l
3T el § IR WIUfHE 39 # 371 90 56 U X% @S 51- &I adia-l qal g | SH sy Haea s f
e GRI RIe@ 1 (eeifNad) 7di ¥ Sfdd udl Sugad GFeH S & JHgH S aldd &R addl
T | gl SR URFAHS 1 TsalSeR BT &1 Jad B & Heod 3R 38 3 AT s & Y
T & OTU eI 3 31 S0 PRAT © | S99 [0 g d (e IRd 3t 9 ol 8 ol R & mieR
Bl gerR Ui var § e SR Rrenf &1 wom ufqur’ &9 3t ad sear g | Ui SHEa & o
T T P PUCt Hafid B e Yedied B SaHang s e RR a1 | i s
T3 10 I8 © 19 U 2 8URT U8 AF1ERA dl 334 © 16 84 &1 78] &1 91y W 59 Jay H 0= ¢ &
B BT FIe | TG e cdel d-519 Hd 4 g¢ 91U 3R 39 fadexiiaal & oo [aari &1
gw&gﬁmﬁqﬁaﬁ%ﬂﬂqa?ﬁﬁummﬁi%ﬂﬁ:{ﬁ@aﬂmmmﬁﬂ%wﬁ@
YTHE E |

The discourse of participatory learning may result in:

1. Abandonment of the online tutorial system
2. Vigorous student protestation

. Emergence of dos and don'ts guidelines

. Supervisory role of students

1)1

(2) 2

(3) 3

(4) 4

gfaynft siftnme deeh foust 1 o o S« oo g 9ear g 2

1. e ety a1 &1 UREnT

2. I BT UiRie

3. T B 3R 1 9 B¢ gad e o3
4. B B yddgui yfieT

1) 1
) 2
(3) 3
4) 4

NN ]

1[Option ID=13393]
2[Option ID=13394]
3[Option ID=13395]
4[Option ID=13396]
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Read the following passage and answer the question :

What is it that tutors do, or should do, in support of the online learner ? Some have sought to explore and
clarify by the adoption of particular metaphors, such as moderator, mentor, or facilitator, to describe the tutor's
role. These terms have their value in guiding our behaviour as online tutors, but their force is primarily to warn
us to stand aside. The evidence is that too much or inappropriate, contribution to tutorial discussion by the
tutor can inhibit contributions by the students. The rhetoric of facilitator and moderator speaks of a duty to
liberate the students, and empower them to participate in their own learning. This has the ring of critical
pedagogy about it, which would seek to remove the authority of the teacher, casting teacher and learner as
equal participants in the educational endeavour. Such protestations of equality will ultimately show themselves
to being disingenuous, however, when the imperative of assessment rears its ugly head. Worse, though is the
fact that these formulations guide us about what we shouldn't do, but remain rather silent about what we
should be doing. If the online tutor is going to move from centre stage and sacrifice some ideas of his or her
sagacity, what sorts of roles might be taken up to contribute to the guidance of the online learner ? There are
paradoxes here.

Fafefad e of ufed iR Uy &1 3| 2T |

HFare &l &1 SeTadr = & (AU SYer T PR & SHUdl 35 &1 HA] AT 2 TS AFll 3 e
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The passage is an analysis of:

1. The traditional educational system
2. The new assessment methodology
Indian vocational education
Paradoxes of online tutoring.
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